f ™ HARA
\) SCIENCE

SINGLE ACTION PISTON VALVE ADAPTED FOR HEMING SEALER

WEARLES"
ALle

.~ FOR EFFICIENCY PROMOTION/COST REDUCTION/LONGER LIFE |
N J‘ JJL‘. DHESIDN PROCESS IN THE AUTOMOBILE PRODUCTION LINE

IHARA SCIENCE CORPORATION




I

\

—__.
Ll
v i

With the adoption of WEARLESS
VALVE, a single action piston valve
adaptable to heming sealer, produc-
tion efficiency and drastic reduc-
tion in maintenance cost can be
realized by the positive flow control
of fluid in such application as high
viscous adhesive containing glass
beads.

BEMain features

B Single action (Products of other makers' are double action)
With the spring return design being ‘AIR Less Close’ complete closure of fluid at pressure of 20MPa can be achieved,

and operation air for piston upper part is not required-therefore no water puddle. Air piping required for double action is
not required.

I Features of the stem seal

With the adoption of the ‘special steel scrapper’ , adhesive material seeping into the gland part can be prevented and
wear due to sliding of glass beads have been overcome by the combination in the design of the ‘gland packing adapt-
able for high viscous fluid' based on track records in seals and with the super polished stem. Drastic shot endurance
has been realized.

I Special characteristics of the valve seat

With the use of the highest quality ‘special alloy’ material for the valve and valve seat as well as by utilizing the unique
production know-how such as the remarkable precision in the improved machining process, superior closing perfor-
mance is being exhibited. Wear resistance and longer life incomparable with other valves have been achieved.

I Impact reduction mechanism

In order to enhance durability of the valve seat, impact reduction mechanism has been adopted for protection against
impact encountered by the valve seat at spring return. By providing a needle valve mechanism for control of the operation
air pressure exhaust velocity at valve closing, limited adjustability has been provided to the speed control mechanism.

B Weight reduction and non-corrosiveness

In addition to the compact design with the adoption of the high resistance special plate spring and high viscosity duralu-
min body, the material adopted for the vessel is non-corrosive light weight aluminum alloy. This light and high perfor-
mance piston valve employs stainless steel and special high grade material for vital parts.



B Field of application

Il System related to conveying adhesive

Control valves for lines conveying high viscous adhesive material contain-
ing glass beads for heming sealer and masstic sealer in automobile
assembly plants.

I System related to conveying liquid containing high viscous liquid solids
Fluid control valve for ‘liquid containing solids’ such as various high vis-
cous liguid (such as silicon, calking material, printing ink) and various slur-

ry, sludge, fibrous material, powder, etc.

B Specifications

Fluid

High viscous adhesive, adhesive containing glass beads.
High viscous liquid, liquid and fluid containing solids in slurry form.

Design pressure

Input : 20 MPa, Output: 5 MPa

Design temperature

Ambient temperature

Design

Spring return type pneumatic operated ON-OFF globe valve

Operation air pressure | 0.39 MPa
Operation mode AIR Less Close
Orifice Dia. 4
Connection Rc3/8

Valve closing time

Recommend setting - more than 0.3 sec.

Pressure inspection

Pressure test: 25 MPa; valve seat leak test: 20 MPa;
Leak to outside test: 5 MPa

Endurance test

More than 100,000 shots

Main material Body : Aluminum alloy (super duralumin JIS A7075)
Bonnet. cylinder. etc. : Aluminum alloy (AB063, A5056)
Essential parts : SUS304, SK, special alloy, special resin
Product weight 1.6 kg

B Endurance test

Actual liquid adhesive material containing glass beads was introduced into the valve, and valve
opening and closing by the piston driven by pneumatic pressure was performed to test for leak-
age from valve seat and gland.

BDimensions

65

|;
55
65
|
|
7
$60
30
8

(mm)



: . B
R 7/\ 291 LIRS H
& IHARA SCIENCE CORPORATION IS09001.1S014001 Certified place of Business o

1S0 14001 REGIS’
O Corttcasen £V T

Headquarters/13-17 Oi 4-Chome, Shinagawa-ku Tokyo 140-0014 JAPAN TEL:(81)35742-2221 FAX :(81)35742-2231

BWURL:http://www.ihara-sc.co.jp

2006.12.30.AUEW
EThis Specification is Subject to Change Without Notice.




Cleanness by Purpose

Various Connections, Wide Range Line-up!

THARA ZD = ZC Series
SCIENCE

Excellent Cracking Characteristics,
Corresponding to 'Various Connections!

heck

Valves

Check valves made stainless steel

IHARA SCIENCE CORPORATION



Table of Contents '

Page Contents

Features & Specification

Material/Flow Characteristic

Dimension Sheet, ZD Series(Half Union)

Dimension Sheet, ZD Series(Half Union/Union)
Dimension Sheet, ZD Series(Half Union/Nipple/Soket)
Dimension Sheet, ZD/ZC Series

Example of Custom Products

N|o|jalbh]WIN]|—

e

® Compact and Light
® Applicable fluid : Water, Air, Gas(N2)

® Range of Working Temperature : 0°C ~200°C(Fluro—rubber)

*  When operating initially, try to move the poppet once, before putting into operation, as the O-ring may be close contact.

® Max Working Pressure : 5 MPa

® Wide selection, Easy choice, Standardized Half union type
* BI-LOK connection: 1/40D 3/80D 1/20D ¢$6 8 ¢ 10 ¢ 12

* Screwed connection(R, NPT):1/8 1/4 3/8 1/2
*  We will be correspouding to the different shape and dimension from this catalogue, please inguire us regardless of quantity.

@® Cracking Features

Pressure Product s

PSIG | Kpa Mpa label '
1/3 1.96 0.003 2KPa 2
1 6.86 0.007 7KPa 7
10 68.6 0.069 70KPa 70

* Cracking pressure other than those listed above will be considered.
* In case of lower cracking pressure than 10KPa, the reverse pressure might be necessary, to re—seal of poppet

@® Reverse pressure is as below

Necessary reverse
pressure

= (1/40D or 1/4 or § 6) Over 40KPa

Size

1/40D or 1/4or ¢ 6 < Over 60KPa

_1_



Part Name and Material

5 3 No Part Name Material
e Q) Body A SUS316
@ Body B SUS316
: (\ ® Poppet SUS316
| | @ Spring SUS316
. T = ® O-ring Fluro—rubber
| stn — ® O-ring Fluro-rubber
= @ Nut SUS316
Front ferrule SUS316
© Back ferrule SUS316
Graph of Flow rate Characteristic per Craking Press
1 1
N x__.%/)gé%} "
0.1 A
O = e 5 eTem
= =
H —
e
g o2kPa [ &
0 7KPa |
X70KPa [ |
0,001 [ 0.001 o
1 10
FLOW 0/m) FLOW Vm)
@ BILOK1/4xR1/4 @® BILOK1/4
1 1 ot
/ﬂ
/4
01 E 01
= L = ﬁ
w AT w /]
2 oot A 0 2KPa 2 001 gﬂ/
& 7 0 7KPa 2 # = HE
Z X 70KPa a ji: ]
X 70KPa [
0001 0001 [ 111
1 10 100 1 10 100
FLOW IV/m) FLOW /m)
@® BILOK3/8 @ BILOK1/2




CHECK VALVE ZD SERIES

HALF UNION
L
iﬁ_n_ TET T 1 []] s
i h Sig
#KPa
T_/ h H
(HEX) (HEX)
FLOW Part No [IN] T [ouT] @A h F oL
R INCH MM INCH MM INCH MM
ZD—2RM4D—S—%KPa 1/8 1/4 | 6.35| 5/8|15.88| 9/16 |14.29 | 15.4 | 50.5
ZD—4RM2D—S—%KPa 1/4 1/8 | 3.18| 5/8 |15.88| 1/2 |12.7 | 13.0 | 52.4
R - INCH BILOK| ZD—4RM4D—S—%KPa 1/4 1/4 | 6.35| 5/8 [15.88 [ 9/16 [14.29| 15.4 | 54.0
ZD—6RM6D—S—%KPa 3/8 3/8 | 9.53|15/1623.81|11/16|17.46 | 17.0 | 72.2
ZD—8RM8D—S—%KPa 1/2 1/2 | 12.7 | 15/1423.81| 7/8 |22.23| 23.0 | 80.1
ZD—2RMBMD—S—%KPa 1/8 - 6 - 17 | — 14 | 15.4 | 50.2
ZD—4RMBEMD—S—#KPa 1/4 - 6 - 17 | — 14 | 15.4 | 54.5
ZD—4RM8MD—-S—%KPa 1/4 - 8 - 17 | — 17 | 16.3 | 55.7
R - M BILOK
ZD—4RM10MD—S—%KPq 1/4 - 10 - 24 | - 19 [17.3] 73.2
ZD—6RM12MD—S—%KPaq 3/8 - 12 - 24 | — 22 | 229 | 80.4
ZD—8RM12MD—S—%KPa 1/2 - 12 - 24 | — 22 | 229 | 84.4
Part N [IN] T [OUT] oA h

FLOW ° NPT INCH MM INCH MM INCH MM F L
ZD—2NM4D—S—%KPa 1/8 1/4 | 6.35| 5/8 [15.88|9/16 |14.29 | 15.4 | 50.5
ZD—4NM4D—S—%KPa 1/4 1/4 | 6.35| 5/8 [15.88(9/16 [14.29 | 15.4 | 54.0

NPT -

INCH BILOK | ZD-6NM4D—S—%KPq 3/8 1/4 | 6.35(11/16[17.46[9/16 [14.29 | 15.4 | 54.0
ZD—6NMBD—~S—%KPa 3/8 3/8 | 9.53(15/16]23.81[11/16|17.46| 17.0 | 72.2
ZD—8NM8D—S—%KPa 1/2 1/2 | 12.7 |15/16|23.81| 7/8 |22.23 | 23.0 | 79.6
ZD—2NM6MD—S—%KPa 1/8 - 6 - 17 | — 14 | 15.4 | 50.2
ZD—4ANM6MD-S—%KPaq 1/4 - 6 - 17 | — 14 | 15.4 | 54.5

NPT -
M BILOK | ZD—4NM8MD—S—%KPa 1/4 - 8 - 17 - 17 | 16.3 | 55.7
ZD—6NM12MD—S—%KPa 3/8 - 12 - 24 | — 22 | 229 | 80.4
ZD—8NM12MD—-S—%KPa 1/2 - 12 - 24 | — 22 | 229 | 84.4




CHECK VALVE ZD SERIES

HALF UNION L
F
L/
me\—-‘—‘ ~——)|
EMTLIE —
=ERN Bl—LoK
o= I e | #KPa
—\ N \/ / -
H h L/
(HEX) HEX)
[IN] »A | [oUT] T h H F | L
FLOW Fart No INCH MM R INCH MM INCH MM MM MM
ZD—4D2RM—-S—%KPa 1/4 6.35 1/8 5/8 15.88 9/16 14.29 | 15.4 50.5
ZD—4D4RM—S—%KPa | 1/4 | 6.35 1/4 s/8 |15.88|9/16 [14.29| 15.4 | 55.0
ZD—4D6RM—-S—%KPa 1/4 6.35 3/8 11/16 | 17.46(9/16 |14.29 | 15.4 | 55.9
INCH—BILOK -

R | zD-6D4RM—S—%KPa | 3/8 | 9.53 1/4 15/16 | 23.81|11/16 [17.46 | 17.0 | 71.2
ZD—6D6RM—S—¥%KPa 3/8 9.53 3/8 15/18 23.81 11/16 17.46 | 17.0 72.2
ZD—8D8RM—-S—%KPa 1/2 | 12.7 1/2 15/16 | 23.81| 7/8 [22.23 | 23.0 79.6
ZD—6MD4RM—S—%KPa _— 6 1/4 -_— 17 —_— 14 15.4 54.5
ZD—8MD4RM—S—%KPa _— 8 1/4 - 17 _— 17 16.3 55.7

M—BILOK - R
ZD—10MD6RM—-S—%KPa —_ 10 3/8 - 24 _— 19 17.3 76.7
ZD—12MD8RM—-S—%KPa _ 12 1/2 -_ 24 —_ 22 22.9 80.7
UNION F
g L] m 1] 1
<[3 I 5 7 | —-—
S'e Ll |

H h

(HEX) (HEX)

L
Low bart No [IN—OUT] %A h H F | L
INCH MM INCH MM INCH MM MM MM
ZD—2D-S—#KPa 1/8 | 3.18 | 5/8 |15.88|7/16 | 11.11| 130 | 57.4
INCH—BILOK — ZD—4D—S—%KPa 1/4 | 6.35 | 5/8 | 15.88|9/16 | 14.29| 15.4 | 59.1
INCH-BILOK | 7p_gp—-5—%KPq 3/8 | 9.53 |15/16|23.81(11/16| 17.46| 17.0 | 76.4
ZD-8D—S—#KPa 172 | 127 |15/16]| 23.81| 7/8 | 22.23| 23.0 | 82.1
ZD—6MD—S—%KPa _ 6 — |17 | = | 14 | 15.4]| 582
M_BILOK - ZD—8MD—S—%KPa _ 8 — 17| = | 17 | 163|610
M=BILOK | 7p_10MD-S-%KPa _ 10 | — | 24| = | 19 [|17.3] 78.3
ZD—12MD—S—%KPa _ 12 | — | 24 | — | 22 | 22.9] 845




CHECK VALVE ZD SERIES

HALF UNION
H h
D) GE9) THEX) T .
F
gg | B0k | T BI-LOK [ > T g;
é || #KPa #KPa 5
L
FLow Part No [IN] o | [ouT] T h H F | L
INCH MM Rc INCH MM INCH MM MM MM
ZD-4D4RF-S—xKkPa | 1/4 | 6.35| 1/4 3/4 |19.05|9/16 |14.29| 15.4 | 58.5
ZD-4D6RF-S—%KPa | 1/4 | 6.35|  3/8 7/8 |22.23| 9/16 |14.29| 15.4 | 505
INCH—BILOK » | ZD-6D4RF-S-%KPa | 3/8 | 9.53| 1/4  [15/16|23.81(11/16[17.46| 17.0 | 72.9
Re | zp-6D6RF-s-%KkPa | 3/8 | 9.53| 3/8  |15/16|23.81|11/16|17.46| 17.0 | 74.4
ZD-8D6RF—S—%KPa | 1/2 | 12.7 3/8  |15/16(23.81 | 7/8 [22.23] 230 | 772
ZD-8DBRF—S—%KPa | 1/2 | 12.7 12 |1-1/16]26.99 | 7/8 |22.23| 23.0 | 82.7
Part No [IN] T [ [ouT] oA h H F | L
FLOW Rc INCH MM INCH MM INCH MM MM MM
ZD—4RF4D—-S—%KPa 1/4 1/4 | 6.35 | 3/4 |19.05|9/16 |14.29| 15.4 | 56.2
ZD—4RF6D—S—%KPa 1/4 3/8 | 9.53 |15/16|23.81 [11/16]17.46 | 17.0 | 71.7
Re - ZD—6RF4D—-S—%KPa 3/8 1/4 | 6.35 |15/16 | 23.81 | 9/16 | 14.29| 15.4 | 58.4
INCH=BILOK | 7p_gRF6D~S—%KPa 3/8 3/8 | 9.53 |15/16 [23.81 [11/16[17.46 | 17.0 | 73.9
ZD-8RFBD—S—#KPa 1/2 3/8 | 9.53 |1-1/16]26.99 [11/16]17.46 | 17.0 | 80.3
ZD—8RF8D—S—%KPa 1/2 1/2 | 12.7 [1-1/16|26.99 | 7/8 |22.23| 23.0 | 84.2
NIPPLE @® SOKET
h
T HEX
| S — AN - Ep—
B-Lok | =
=
#KPa
—J __J (HEX)
L
IN—OUT] T] h | L [N—ouT T h | L
FLOW Part No [ . T] - = FLOW Part No Re MM MM
D—2RM—S—%KPa 1 /8 17 | 425 ZD—4RF—S—%KPa 1/4 17 | 545
Rc - Rc ZD—6RF—S—%KPa 3/8 24 | 71.0
ZD—4RM—S—%KPa 1/4 17 | 50.5
R » R ZD—8RF—S—%KPa 1/2 27 79.0
ZD—6RM—S—*KPa 3/8 24 | 69.0
ZD—8RM—S—%KPaq 1/2 24 | 76.0 FLOW Part No n-oum 7] b | L
ZD—4NF—-S—%KPa 1/4 17 54.5
NPT = NPT | ZD—BNF—S—%KPa 3/8 24 | 710
ZD—8NF—S—%KPa 1/2 27 79.0




@® ADAPTER
IN] T OUT] T F L
. FLOW Part No [ 1 fout] T+ L
T (HEX) T
ZD—2RM2RF—-S—¥%KPa 1/8 1/8 17 45.0
R - Rc ZD—4RM4RF-S—%KPa 1/4 1/4 17 52.5
1m BI_LOK B ZD—6RMBRF—S—%KPa 3/8 3/8 24 | 70.0
)_‘ #KPa
- ZD—8RMBRF—S—%KPq 1/2 1/2 27 | 78.0
L
IN] T OUT] T F L
T T, FLOW Part No N o
\ é ZD—2RF2RM—S—%KPa 1/8 1/8 17 45.0
[ | . I Re » R ZD—4RF4RM—S—%KPa 1/4 1/4 17 52.5
BI-LOK
#KPo ZD—6RF6RM—S—%KPa 3/8 3/8 24 70.0
S
ZD—8RF8RM—S—%KPa 1/2 1/2 27 | 78.0
CHECK VALVE ZC SERIES
® COMPACT NIPPLE o 1T F 1 L
FLOW Part No [ = T] i i
ZC—4RM—S—%KPa 1/4 17 | 36.0
— — R » R ZC—6RM—S—%KPq 3/8 19 | 38.0
I Ml ZC—8RM—S—X¥KPa 1/2 24 | 50.0
=
: [IN-0UT]
3 IN—OUT] T| F | L
g Part N
/ FLOW ar ° NPT MM MM
L
T ZC—4NM—S—%KPa 1/4 17 | 36.0
1/ \_h_ NPT - NPT
(HEX) ZC—B6NM—S—%KPa 3/8 19 | 38.0
@® COMPACT HALF UNION
&
SIg
h
(HEX)
FLow Part No [IN] sA [ [ouT] T h H F L
INCH MM R INCH MM INCH MM MM MM
ZC—4D4RM-S—%KPa | 1/4 | 6.35 1/4 9/16 |14.29 | 9/16 | 14.29| 15.4 | 37.8
ZC—4D6RM—S—%KPa | 1/4 | 6.35 3/8 11/16|17.46 | 9/16 | 14.29| 15.4 | 39.5
INCH=BILOK =_ | zc—6D4RM—S—3KPa | 3/8 | 9.53 1/4 5/8 |15.88 | 11/16] 17.46| 17.0 | 40.0
ZC—6D6RM—S—%KPa | 3/8 | 9.53 3/8 11/16|17.46 [ 11/16]| 17.46| 17.0 | 41.0
ZC—8D8RM—S—%KPa | 1/2 | 12.7 1/2 7/8 |22.23| 7/8 | 22.23| 23.0 | 47.8
ZC—-6MD4RM—S—%KPa | — 6 1/4 — |17 | = | 14 | 154 | 402
M—BILOK - R ZC—10MD4RM—S—%KPa | — 10 1/4 - 19 - 19 |117.3| 411
ZC—12MDBRM—S—%KPa | — | 12 3/8 - | 22 — | 22 [ 229|445




CUSTOM PRODUCT ZD ZC SERIES

BILOKxBILOK  (REDUCER INCHXM) RxNPT, RexNPT
Part No ; ZD=#k(M)Dk(M)D-S-¥¢Kpa Part No ; ZD—*¥RM(RF)¥*NM(NF)-S—>Kpa

EP-FIT CONNECTION
Part Noff| ; ZD—*EP(+*EP)-S—KPa

g o I — ’ o == B - )
7 e / N r@Fﬁ l.unr |
: ] | BEEL =
SR L[]
EPXR(NPT) O-RING SEAL x BILOK POSSIBLE TO CHANGE O-
PartNo ; ZD(C)-++EP++RM(NM)-S—3KPa RING (FLURO-RUBBER)

WARNING: If your don't select and handle fittings, valves and related accessories in an adequate
manner, it may damage human beings and applicable systems.
Within the responsibility and authorization of users and piping desiners, fittings, valves
and related accessories shall be adequately selected, assembled, used and maintained
based on the applicable conditions and product conformity to the system to be applied.
Please read carefully our operation manual and feel free to contact with IHARA SCIENCE
CORPORATION if you have any question of request.

,\[fB THARA SCIENCE CORPORATION

URL: http://www.ihara—sc.co.jp

Head office : 3-11-3, Takanawa, Minato—Ku, Tokyo, Japan 108-0074
Tel: +81-(0)3-6721-6981
Fax:+81-(0)3-6721-6991



|}
Cleanness by Purpose Bl@k

THARA
@ SCIENCE

BALL VALVE

R=IVINIVT

IHARA SCIENCE CORPORATION



R—ILINIVT ) —ZX D5
30MPaXx TOERAEANICIE L TERET,
BFERFICD L TER, HhitrbABRLET,
FEDEEUMCHL TERIHCTEIELETS,

FEATURES OF BALL VALVE SERIES

Can be selected in accordance with the applicable working pressure up to 30MPa as well as
the fluids being handled. Oil free specification is also available. Non-standard connections
can also be made upon request.

F—=ILs )72 Y — X Ball valve series

NILT REEAEN Max. | FREESH BHARETAX ERRA
)—X Max. working Working Type & size of Connection Applicable fluid
Valve pressure Temperature _ TR HA 7K
series MPa range °C BRLEN YIE WP/ Air Gas Wtr
B05C 49  @38C -10~ 80 1/4~1/2 - 1/4~1/2 @) @) @)
¢6~12
B17 175 @38C -10~ 100 1/4~1/2 - 1/4~1/2 @) O O
B30 300 @38C -10~ 80 1/4~1/2 - 1/4~1/2 @) @) @)
BOFR 098 @38C -10~ 80 1/4~3/4 1/4~3/4 1/4~1/2 @) @) @)
F—ILNIVT RREFREH  Ball valve part number definition
[ [ [ [ [ [
) @ ® ® 6 ®
DQFE—=r 7Y —X (&S : B) Ball valve series (Initial symbol : B)
@INfEiEF Y14 X Connection size (IN-side)
1) inch Bl-Lok, VTFiE#: Connection 2) mm Bl-LokiZ# Connection
& Symbol 4 6 8 12 Z5 Symbol 6M 8M 10M 12M
B4 X Size 1/4” 3/8” 1/27 3/4” B4 X Size 6mm 8mm 10mm 12mm
3) R LARHEFE Screwed fittings i Connection
i25 Symbol 2 4 6 8 12 16 20 24 32
4R Size 1/8B 1/4B 3/8B 1/2B 3/4B 1B 1-1/4B 1-1/2B 2B

®IN{H#E#KE Connection end (IN-side)

&5 Mark ¥E#tim Connection end &5 Mark $E#tim Connection end
D Bl-Lok NM Male NPT
VM Male VTF NF Female NPT
VF Female VTF RM ISO,/R
VO VTF O-ring seal type RF ISO,/R¢

@OUTER: Y 4 X Connection size (OUT-side) INfA| & RE—DIFEILEEE
®OUTEI#ESE Connection end (OUT-side) Omit when identical with the IN side.
®FRT 1k Styleofbody S: R kL —F%&A47 Straighttype A: 7> 71L& A47 Angle type




BO5C1)—X Series

4OMPa /SRZ N7 Y FRaAVIST FER—ILSLT
4.9MPa Panel mounted Compact Ball Valve

¥ Features

YA KRR YRRy MEE
Both side screwed bonnet type constru

ction

JVNRY FNTRE
Compact and light weight

Compact and light weight

BNEREEE ST AY RILEIR

BNEREEESL LT AY RILEIR
Handle shaped to provide superior operability

RF-PTFE/Xw % > T AR £
Durability enhanced with RF-PTFE pack

ing

{# Specifications

FRFluid @ Z2RAIr, KiEH A Gases, KWater, EZ2Vacuum

=18 A E ZMax Working Pressure : 4.9MPa @ 38°C

{3 AR EEIF Working Temperature range : —10~80°C

CViE: 1.2 (4D) . 2.2 (6D) . 4.2 (8D)
ERAEEH Lubricant : Z)LA A H—HKR>X—X Fluoro-carbon Base
#MHE Materials
No. fn# Part Description Qty #& Material
L ITaT 1 7RF 4 Body 1 SCS14
JING \ 2 "RT 4 %+ v 7Body cap 2 |SUS316
2 oL . 3 F—LBall 1 SUS316
® 4 |>— ks%y F Seat packing 2 RF-PTFE
8 5 0Y>%0-ring 2 |FKM
7 6 | AT LStem 1 'SUS316
7 10Y>%0-ring 1 [FKM
8 | A7 X+ v+ Thrust washer 1 PCTFE
1 t i . 9 47> FGland 1 SUS304
10 /v FJLHandle 1 |NYLON66&BRASS(RoHS compliant)
11 v b X2 Y 27 Set screw 1 |SCM435 Equivalent
12 [/X%JLF v kPanel nut 1 SUS304
13 78> b7 zJL—JLFront ferrule 2 |SUS316
HWWBROWRU 14 /X 27 7 = J)L—JLBack ferrule 2 |SUS316
15 |7 FNut 2 |SUS316
W W
Fl — 2 -
c|3 Fl — R
- e ? B Hex) <)E o
38 T -
2 | i T
= c —
<|[w 1 | | ey A | T <
| e 1 1 | Lg i | 1 e
— [ — j— ’Fm&
L1 \ U —
\ T AN
(L) \ (L) NPT/RO) .
LB LF_ LB
(Flat) (Hex.)
<tix3& Dimensions (Bl-LokiZE# BIl-Lok connection)
Part No. A Dimensions mm F Panel | Weight
in mm E L L1 H1 H h hl F1 W B in mm Hole kg
B05C-4D-S 1/4 6.35 4.8 36.4 29 47.2 36.5 10.5 5 19 45 21 9/16 14.29 14.8 0.20
B0O5C-6D-S 3/8 9.53 7.1 42.5 35 54.2 41.7 13 5 23.8 54 24 11/16 17.46 18.5 0.30
B05C-8D-S 1/2 12.7 10 48.2 38 66.5 51.5 17 5 30 70 30 7/8 22.23 25.8 0.50
B0O5C-6MD-S — 6 4.8 36.5 29 47.2 36.5 10.5 5 19 45 21 — 14 14.8 0.20
B05C-8MD-S — 8 4.8 37.5 30 47.2 36.5 10.5 5 19 45 21 — 17 14.8 0.20
B05C-10MD-S — 10 7.1 42.7 34.9 54.7 41.7 13 5 23.8 54 24 — 19 18.5 0.30
B05C-12MD-S — 12 10 48.2 38 66.5 51.5 17 5 30 70 30 — 22 25.8 0.50
<3k Dimensions (BT —/1 LiEH Pipe tapered thread connection)
Part No. T Dimensions mm Panel | Weight
NPT Conn Rc Conn.  |NPT/Rc E L H1 H h hl F1 W B Hole kg
BO5C-4NF-S |B0O5C-4RF-S 1/4 5 23 47.2 36.5 10.5 5 19 45 21 14.8 0.20
B0O5C-6NF-S |B0O5C-6RF-S 3/8 7.1 24 54.2 41.7 13 5 23.8 54 24 18.5 0.30
B05C-8NF-S |B05C-8RF-S 1/2 10.0 29.5 66.5 51.5 17 5 30 70 30 25.8 0.50
C¥) - Bl-LokEHRomETELIE. Fv FoEHOMBEICSIT2HDTT,
(Note) - Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_2_




17.5MPa
17.5MPa

B171)—X Series

NIV MR IINY RER—=IJLNILT
Panel mounted Compact Ball Valve

EH/BEVAT 1% Pressure-Temperature Rating

458 Features

mY A R 19K 2y MEE
Both side screwed bonnet type construction

a2 XY NTEE
Compact and light weight

BNBEEES 25T/ RILZIR

Handle shaped to provide superior operability

PCTFE/Yv % > Tt Atem@ £
Durability enhanced with PCTFE packing

{14 Specifications

FAEFluid @ 25 AIr, &84 XGases. ZKWater. EZ2Vacuum

=% FE IMax.Working Pressure : 17.5MPa @ 38°C

& R EE #F Working Temperature range : —10~100C

Cvi& : 0.7(4D). 22 (6D). 42 (8D)

{EFEEH| Lubricant : Z7JL#4 O H —7K > ~N— X Fluoro-carbon Base

8 Materials

s No. &k Part Description Qty #& Material
1° 1 | K5 1 Body 1 |SCS14
gn 2 | /NJLTJR—JValve Ball 1 | SUS316
4 s — 3 | K—JL>— hBall Seat 2 |PCTFE
4 4 | %4 KA > %y bSide bonnet 2 |SUS316
5 |0 >%0-ring 2 | FKM
e ® |6 |xFLStem 1 [sussie
] 7 [/¥y * > 1) > JPacking ring 1 |SUS316
I S e ERAL
"0 ING 9 [75> K7y rGlandwasher | 1 |SUS316
@ 10 | M {4173 Coned disc spring 2 |SUS304
@ 155> F+v FGland nut 1 | SUS304
@ 12 | /v RJVHandle 1 | Nylon&C3604
® 13 | v X 71 277 Set screw 1 | SUS304
14 | 7 FNut 2 | SUS316
{ }F C 15 | 70> b 7 x Jb—JLFront ferrule 2 | SUS316
B 16 | /N o7 7 1 Jb—JLBack ferrule 2 | SUS316
@ ® 050 17 | /X% JVF» FPanel nut 1 | SUS316
W j " W T
W 1% W .3
) / \ q f i \
(0D | Il ) = hﬂ][ﬂﬂﬂ]ﬂl]]ﬂl[ﬂﬂ i )
|
| =] g : &= \‘:m‘}w
1 — $F(4iRdl g L sj;% B —re ' 5 4 Leanrm
= 4 : @\ e = = =
| 1IN e
| Ns ==k
Li N2 L L
e — L N L
%% Dimensions (BI-LOK#E#: BI-LOK connection)

Part No. A Dimensions mm Weight
Straight in mm d L L1 H1 Ha Hs Ha N1 N2 N3 N4 F T w Wi M kg
B17-4D-S| 1/4 | 6.35 4.8 83 | 26.0 | 47 10 105 | 10.5 | 21 |19.05|14.28|22.22| 16.5| 6 59 | 35.5 |[M3x0.5| 0.20
B17-6D-S| 3/8 | 9.53 71 90 | 28.3 | 52 12 12 12 24 120.65|17.46(/23.8 | 185 | 8 64 | 38 |M4x0.7| 0.27
B17-8D-S| 1/2 |12.7 10.4 | 102 | 28.0 60 14 15 15 30 [25.4 |22.22|30.16| 245 | 95 102 | 63 M5x0.8| 0.47

<I%% Dimensions (BT —/V# U#R Pipe tapered thread connection)
Part No. T Dimensions mm Weight
NPT Conn | RC Conn. |[NPT/RC| d L L1 Hi Ha Hs Ha N1 N2 Ns F T W Wi M kg
B17-4NF-S |B17-4RF-S| 1/4 48 | 67.8 | 33.9 47 10 10.5 | 10.5 21 [19.05(22.22| 165 | 6 59 | 35.5 |[M3x0.5| 0.20
B17-6NF-S | B17-6RF-S| 3/8 711|708 | 354 | 52 12 12 12 24 2222|238 | 185 | 8 64 | 38 |M4x0.7| 0.27
B17-8NF-S |B17-8RF-S| 1/2 | 10.4 | 84.8 | 424 | 60 14 15 15 30 |27 30.16| 245 | 9.5 102 | 63 |M5x0.8| 0.46

(7) - Bl-LokiEREDERTEL 3. Fv FOEHOHUEBEICHTE2HDTT,
(Note) - Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_3_




B30/1)—X Series

30MPa /NJILY > hRXIAZ/NY FR—JLNILT
30MPa Panel mounted Compact Ball Valve

PEEK

PCTFE
14MPa

458 Features

mYA R 19K 2y MEE
Both side screwed bonnet type construction

a2 NTEE
Compact and light weight

BNIBREEED ST/ FTIR
Handle shaped to provide superior operability

PCTFE/Yy ¥ > Tt A tem £
Durability enhanced with PCTFE /PEEK packing

1% Specifications

FAAFluid @ ZRAIr, ZfEH XGases. KWater. EZZVacuum

= 1#FE 7 Max.Working Pressure : 30MPa @ 38C

& FER EE 85F Working Temperature range : —10~80C

Cvf : 0.7(4D). 22 (6D). 42 (8D)

{EAEEH Lubricant : 7JL#4 04 —K > ~N— 2 Fluoro-carbon Base

& Materials

No. &n Part Description Qty & Material
1 | A7 1 Body 1 |SUS316
2 | /NJL TR —JValve Ball 1 | SUS316
3 | K—JL L — hBall Seat 2 | PCTFE/PEEK *
4 | ¥— b 74 FSeat retainer 2 | SUS316
5 |0 >%0-ring 2 [NBR
6 |4 KAKR>x v bSide bonnet 2 | SUS316
7 | 01> % 0-ring 2 |NBR
8 | X7 LStem 1 |SUS316
9 | 77> K7y +Gland washer 1 | PCTFE
10 | 0 ') > 7 O-ring 2 |NBR
11 | /Ny 77y 71) > % Back up ring 1 | PTFE
12 | X7 X 7 v 2 + Thrust washer 1 |PCTFE/PEEK
13 | 72> KF+ v ~Gland nut 1 | SUS304
14 | /N> RJVHandle 1 | Nylon&C3604
15 | v b X7 1) 1277 Set screw 1 | SUS304
16 | v BNut 2 | SUS316
17 | 780> k7 = Jb—JVFront ferrule 2 | SUS316
18 | /Ny 7 7 T JL—JLBack ferrule 2 | SUS316
19 | /X% JLF v bPanel nut 1 | SUS316

(%) ZETin-owtDEEN20MPa% B2 3551 K—IL Y — M EISPEEKE
TRELLZEN,

(Note) When gas pressure difference between in and out exceeds 20MPa,
select PEEK for ball sheet.

W
Wi

s ————

N4

(5]

H1

@

Hz

# F Usxnem)

Hs

(NZVEE)

Ha

TN

Na

a2 ]

N2

N1

sFi%% Dimensions (BI-LOK#E#: BI-LOK connection)

Part No. A Dimensions mm Weight
Straight in mm d L L1 H1 He Hs Ha N1 N2 N3 N4 F T w Wi M kg
B30-4D-S| 1/4 6.3 48 | 87 28.1 48 | 10 11.3 | 10.3 | 20.6 | 19.05|14.28|22.22| 16.5 6 59 35.5 |M3x0.5| 0.20
B30-6D-S| 3/8 9.5 7.1 | 96 309 | 53 | 10 155 | 185 | 27 23.8 |17.46(23.8 | 18.5 6 64 38 [M4x0.7| 0.34
B30-8D-S| 1/2 | 12.7 | 10.4 | 110 | 31.7 | 59 125 | 17 15.9 | 31.8 |30.16|22.22|30.16 | 24.5 8 102 | 63 |M5x0.8| 0.55

~}i%% Dimensions (BT —/V1a U#& Pipe tapered thread connection)
Part No. T Dimensions mm Weight
NPT Conn | RC Conn. [NPT/RC| d L L1 H1 Ha Hs Ha N1 N2 Ns F T W Wi M kg
B30-4NF-S | B30-4RF-S| 1/4 48 | 72 38 48 | 10 11.3 | 10.3 | 20.6 [19.05|22.22| 16.5 6 59 | 35.5 |M3x0.5| 0.20
B30-6NF-S | B30-6RF-S| 3/8 71 80 40 53 | 10 155 | 13.5 | 27 23.8 [23.8 | 18.5 6 64 | 38 |M4x0.7| 0.35
B30-8NF-S|B30-8RF-S| 1/2 | 104 | 94 47 59 | 125 | 17 15.9 | 31.8 |30.16|30.16 | 24.5 8 102 | 63 |[M5x0.8| 0.56

(iE) - Bl-LokiZFftMEBTEL &, v FOBHEHRUBEICH TE2HDTT,
(Note) - Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_4_




BOFRZ ) — XSeries

0.98MPa /NxJLY > RO /N FR—IVNIVT (BhEER)

0.98MPa Panel mounted Compact Ball Valve

(H)

W
wl
@
'\9\
’a I
al o 8
I of O
| 7 @G
T
2
- 1

@_
@,..——-‘

(L)

BI-LOK end connection

g B2(Hex.)

448 Specifications

mY A R 19K 2y MEE
Both side screwed bonnet type connection

Fluid

e

manig
contacting surface is oil free

Com

J2IXT N TEE

pact and light weight

BIEEICEN NS FULER
Handle shape to provide superior operability

RF-PTFE/Yy ¥ > T A MM £
Durability enhanced with RF-PTFE packing

11 Specifications

FAAFIuid @ Z5AIr, &84 XGases. KWater

&= {#MAE 7JMax.Working Pressure : 0.98MPa @ 38C

{E R E & E Working Temperature range : —10~80C

CV{E : 0.7 (4D). 2.2(6D). 4.2(8D)

EAEEH Lubricant : 7JL# 04 —K > ~N— X Fluoro-carbon Base

8 Materials

No. &h3 Part Description Qty & Material
1 | A7 1 Body 1 |SCS 14
2 | K7 1 %+ v 7Body cap 2 |SUS 316
3 |KR—JLBall 1 | SUS 316

2 4 | >— b/Xy % > Seat packing 2 | RF-PTFE

5 |0O-Y > % 0O-ring 2 | Fluoro-rubber
6 | A7 LStem 1 | SUS 316
7 | 72> K7y ¥ +Gland washer 1 | PTFE
8 |O-1) > % 0O-ring 1 | Fluoro-rubber
9 | R X b7 v ¥ v Thrust washer 1 |PCTFE
10 | ¥ 7 > KGland 1 | SUS 304
11 | /\> KJLHandle 1 | Nylon&C3604
12 | £y X 71) 277 Set screw 1 | SUS 304
13 | /X% JLF v bPanel nut 1 | SUS 304
14 | 783> b7 x JL—JLFront ferrule 2 |SUS 316
15 [ /Ny 7 7 = JL—JLBack ferrule 2 | SUS 316
16 | 7 FNut 2 |SUS 316

K&y 7Rl ENE

I Y4 X M [Z&Z&| D | D1
= ] 1/4 |6M,8M|M3x0.5| 5 | 15 | 15
|| 358 [ 10M [M3x05| 5 [ 18| 18
I 1/2 12M |M3x0.5| 5 | 24 | 22
VTF end connection Pipe tapered threaded connection  Rc = 3/4 M4x07| 5 |32 | 16
~FiE&% Dimensions mm
Conection | Part No. A d L L1 L2 Ls H H1 h w Wi F B B2 D D1 G C |T(inch)
BOFR-4D-S| 1/4 | 4.8 73 | 58 — — | 37 10.5 | 10.5 45 | 28 | 154 | 21 (14.28] 15 15 | 14.5 5 —
Bl-Lok BOFR-6D-S| 3/8 | 7.1 85 | 70 — — | 422 |13 13 54 | 33 [17 24 (17.46| 18 18 |185| 5 —
BOFR-8D-S| 1/2 10 97 | 76 — — |52 17 15 70 | 44 |23 30 |22.22| 24 22 | 25.5 5 —
BOFR-12D-S| 3/4 | 12.5| 130 [108.6] — — | 68 19 20 116 | 80 |24.6| 38 [28.58| 32 16 365 5 —
BOFR-6MD-S| 6mm | 4.8 73 | 58 — — | 37 10.5 | 10.5 45 | 28 [ 154 | 21 (14 15 15 | 145 5 —
M Bl-Lok BOFR-8MD-S| 8mm | 4.8 75 | 60 — — | 37 10.5 | 10.5 45| 28 |16.3| 21 (17 15 15 | 14.5 5 —
BOFR-10MD-S|10mm| 7.1 86 | 69.8] — — | 42.2 |13 13 54 | 33 [17.3| 24 (19 18 18 |185| 5 —
BOFR-12MD-S|12mm| 10 97 | 76 — — | 52 17 15 70 | 44 | 229 | 30 (22 24 22 |255| 5 —
BOFR-4VM-S| 1/4 | 48 | — — 61 — |37 10.5| 105 | 45| 28 — 21 — 15 15 | 145 5 1(9/16-18
VTF |BOFR-8VM-S[3/8&12| 10 — — 76 — |52 17 15 70 | 44 — 30 — 24 22 |255| 5 |7/8-14
BOFR-12VM-S| 3/4 | 125 | — — [123.6| — |68 19 20 116 | 80 — 38 — 32 16 | 36.5| 5 |[11/4-18
BOFR-4RF-S| 1/4 | 4.8 — — — 46 | 37 10.5 | 10.5 45 | 28 — 21 — 15 15 | 14.5 5 —
Rc BOFR-6RF-S| 3/8 | 7.1 — — — 48 422 |13 13 54 | 33 — 24 — 18 18 [ 185 5 —
BOFR-8RF-S| 1/2 10 — — — 59 |52 17 15 70 | 44 — 30 — 24 22 |255| 5 —

(/) - Bl-LokiEROEMTEL IE. v FOEHOHMAEBEICHITE2HDTT,
(Note) - Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_5_



)
Cleanness by Purpose Bll@k

THARA

\I) SCIENCE

top
Valve

y S IAY W

IHARA SCIENCE CORPORATION



43 Features

24.5MPa% COEREADICIE L TGENE T
=8 (VH) »5&EEBH (VC) £ THELXY,
EBEOEGUADOTERICISEC TEMELE T,

316 STAINLESS STEEL BODY STANDARD
PRESSURE TO 24.5 MPa
WIDE TEMPERATURE RANGE —196~230C

CHOICE OF STEM DESIGNS (FOR VB VALVE SERIES)
STRIGHT AND ANGLE PATERN
100% FACTORY TESTED

A by FINIVT L) — X Stop Valve series

AV %) S=EREN ERREESE EiALEY A X
Valve Max. working Working Type & size of end Connections
series Pressure MP "a" Temp. rangeC BI-LOK Pipe Thread Socket Weld
VBM 6.9 @38C —30~120 1/4" — —
"VB " 20.5 @38C —10~(120)230 1/8"~3/4", ¢ 6~12 1/8~1/2 —
VN 245 @38C —10~230 1/8"~1/2", $ 6~12 1/8~1/2 1/4~1/2
VNN 245 @38C —10~150 1/8"~1/2", $ 6~12 1/8~1/2 1/4~1/2
VE 6.9 @38C —10~100 — 1/4~1/2 —
VET 1 @38C —10~100 — 1/4~3/8 —
vQ 29 @38C —10~100 1/4"~3/8" 1/4~3/8 —
VH 245 @38C —10~400 1/4"~1/2" 1/4~1/2 1/4~1/2
$6~12 $6~12 $6~12
VC 10.3 @38TC —196~120 — 1/8~1/2 1/8~1/2
VB ) = ADNVTIE, AT ARIRO L VIZE ), NV T DY) = AR50 Re ) 3. ffllid2, 3=
ST v,
XOE AR IR R EAN NG S0,
Y S n N - wgw
NIVT BBEREZE  Valve part number definition
@ @ @ ® 6 ®
O T ) =X /Valve series
@INfIHEE#E Y 1 X/ Inlet end Connection size
1)inch BI-LOK #it/Inch BI-LOK End 2)mm BI-LOK ##/Metric BI-LOK End
i85 Symbol 4 6 8 12 i85 Symbol 6M 8M 10M 12M
#4 X Size 1/4” 3/8” 1/2” 3/4” #1 X Size 6mm 8mm 10mm 12mm
3)RUIAH, & LiAHKIAREE. K Pipe Thread or Socket Weld End
iS5 Symbol 2 4 6 8 12 16
#4 X Size 1/8B 1/4B 3/8B 1/2B 3/4B 1B
GINfI#E#E4% /Inlet Connection end
&= Mark % 5t ¥ 5 Mark ¥ #t i
D BI-LOK RM ISO/R
NM Male NPT RF ISO./Rc
NF Female NPT PSW Socket weld (Pipe size)

@OUTHI#ER=H 1 X/ Outlet end Connection size INM & [7]— D35 & 1340
®OUTHI#E %%, Outlet Connection end Omitted when identical with the Inlet Port.
O®FRT 1 —FIK/Styleof body S: A b L — I (fE#) © Straight type .~ A 7~ 7 )Vl “Angle type

MR O B

(D34 TREREINDGEF REEFICL, Bo 72 TRERZE > TR LHER LTS W,

@) EE#. 100D L0 7 —\VE L 572, MHEZERELTE 3w,
J— 1 P



VB * series

—RFIWZA My 7NV T (AR LR)

Needle Stop Valves (Inside Screw Type)

ft## Specifications

=={#AE 71/ Max.Working Pressure:20.5MPa @ 38°C

{£ B E &5, Working Temperature range :

X&) —ILZA T Metal Seal Stem : —10~230C
(Valve Series : VBE.VBD.VBN)
VI ho—=IbB24 T Soft Seal Stem : —10~120C

(Valve Series : VBS)

FEREBEI: VI AN=-X, ZJ0FAH—K>X=-2X

Lubricant Silicon base, Fluorocabon base
Cvfli Flow VBE VBD VBS VBN
Coefficient
2.0mm 0.06 0.06 0.06 0.06
FU74X | 4.3mm 0.3 0.3 0.3 0.3
Orifice 6.3mm 0.7 0.8 0.8 0.7
9.5mm 1.8 1.8 1.8 1.5
VB * E : Vee Type Stem
N : Needle Type Stem
S : Soft Seal Type Stem
D : Disk Type Stem
#E Materials
No. &+ Part Description Qty 15 Material
1 |[R7F— Body 1 |SUS316
2 | AT L Stem 1 | SUS316
2-1| T4 XY Disk 1 | SUS630
2-2| 74 X7 7L — b Disk Plate 1 | SUS630
2-3|VT7 Y=k Soft seat 1 | PCTFE
3 |[/¥y x>y Packing ring 1 |SUS316
LPAVE 94 Packing 1 |PTFE
5|72 K Gland 1 | SUS316
6 |/SvyF>F v b Packing nut 1 | SUS316
7 |ByT7Fv b Lock nut 1 | SUS316
8 | /N>R Handle 1 | Phenol resin
EHBEARRE EFRE(Cv) /NRIVEIERE
Bottom Mounting (Option) . [Pressure—TemEirature Rating) [FlowCozf:iscei'i:tb‘e::;;zrim(’)pen]
T = T I I
. e I Seay RUEEIIRRED
15 15 iJUC g Z I
10 Valve Series (Soft Seal) 10 Valve Series (Metal Seal) 2 2
28 oy
5 5 VBN 4 ]
D : Connection RF : Connection  RF : Connection 0 O e 00 o0 o T3 120 14a ven a0 200 200 240 260 i Casicemcy

(Angle) (Angle) . ‘ [Fo—20m_—%4im_—o—6dm_—0~sém

~Hi&% BI-LOK #E#:/Dimensions BI-LOK End
Tube O.D Orifice Dimensions mm .
Part No. A _lemm| L | L | F [ H [ e h B c]a e |t | w[F7ERE
VB*-2D-S 1/8 | 3.18 2 25 | 18.3 | 13 56 | 25 |105| 10 | 6.5 | 175 | 11.1 |17.46|14.29| M12 | 38 16 |M3x0.5
VB*-4D-S 1/4 | 635 | 43 | 289|214 |154 | 60 3 105 | 12 6.5 | 175 |1429| 19 (17.46| M14 | 38 16 |M3x0.5
VB*-6D-S 3/8 | 953 | 6.3 | 329|254 | 17 71 4 135|145 | 6.5 | 20.6 |17.46|23.81(20.64| M18 | 48 19 |M4x0.7
VB*-8D-S 1/2 12.7 | 6.3 | 357|254 | 283 71 4 145|145 | 6.5 | 20.6 |22.23|23.81(20.64| M18 | 48 19 |M4x0.7
VB*-12D-S 3/4 [19.05| 95 |48.4 381 | 246 |875| 6 |195| 20 | 6.5 | 31.8 |28.58|31.75/28.58| M24 | 62 25 |M5x0.8
VB*-6MD-S — 6 43 |1 29.7 222|154 | 60 3 105 | 12 6.5 | 175 | 14 19 |17.46| M14 | 38 16 |M3x0.5
VB*-8MD-S — 8 43 | 29.7 222|163 | 60 3 105 | 12 6.5 | 175 | 17 19 |17.46| M14 | 38 16 |M3x0.5
VB*-10MD-S| — 10 6.3 332|254 (173 | 71 4 145|145 | 6.5 | 206 | 19 |23.81(20.64| M18 | 48 19 |M4x0.7
VB*-12MD-S| — 12 6.3 | 356|254 |229 | 71 4 | 145|145 | 6.5 | 20.6 | 22 |23.81/20.64| M18 | 48 19 |M4x0.7
~HiaxR BH 7 —/ VY1 U i/ Dimensions Pipe tapered End
Part No. T | orifice Dimensions mm IE—

Rc NPT (RC) jsizemm| L | H | Hi | Ho | h | ht | B | G | G | t | w BZ79708
VB*-2RF-S | VB*-2NF-S 1/8 2 20.6 60 3 13.5 12 6.5 | 20.6 19 [17.46 | M14 38 19 | M4x0.7
VB*-4RF-S | VB*-4NF-S 1/4 4.3 27 71 4 145 | 145 | 6.5 | 20.6 |23.81 |20.64| M18 48 19  |M4x0.7
VB*-6RF-S | VB*-6NF-S | 3/8 6.3 27 71 4 145 | 145 | 6.5 | 23.8 |23.81 |20.64| M18 48 19 | M4x0.7
VB*-8RF-S | VB*-8NF-S 1/2 95 | 38.1 | 875 6 19.5 20 6.5 | 31.8 [31.75|28.58 | M24 62 25 |M5x0.8

F7oarilE&) KRbAY T MVRAESZ vy THEREESNBHEICIE. RKEIC “BT” 2FFTTE W,
Bottom Maunting (Option) : Symbol Mark “BT” example : VBE-4D-S-BT

_2_




VB * series

ZryFNNNT (441 LR)
Needle Stop Valves (Out Side Screw Type)

ft## Specifications

=={#AE 7 Max.Working Pressure : 20.5MPa@ 38°C

(Valve Series : VBK)

(Valve Series : VBF)

VI ho—Ib&4 T Soft Seal Stem

{£ B E &5 Working Temperature range :
A& =24 T Metal Seal Stem

: —10~230C

: —10~120C

FRBEEE : >V A~N—X, ZiFOH—K~N—2
Lubricant Silicon base, Fluorocabon base
Cvi# Flow Coefficient VBK VBF
2.0mm 0.1 0.1
A7 42X 4.3mm 0.3 0.25
Orifice 6.3mm 0.8 0.7
9.5mm 1.7 1.6
VBLEK . Disk Type Stem
F : Soft Seal Type Stem
8 Materials
No. &+ Part Description Qty 12 Material
1 |[R7— Body 1 | SUS316
2 | AT L Stem 1 | SUS316
2-1| T4 XY Disk 1 | SUS630
2-2| 74 XY 7L — b Disk Plate 1 | SUS630
2-3|VT7 b=k Soft seat 1 | PCTFE
3 |/¥y x> 1> Packing ring 2 | SUS316
VEPAVE Packing 2 |PTFE
5 | /Nyx> Packing 1 | RF PTFE
6 |K>xv b Bonnet 1 |SUS316
7 |ByT7Fv b Lock nut 1 | SUS316
8 |[Ov 7+ v b Lock nut 1 | SUS316
9 | N2 KIL Handle 1 | Phenol resin
EFRERE
Bottom Mounting (Option) (Pressure — Temperature Rating)
“ \\\wzut “ \
10 Valve Series (Soft Seal) 10 Valve Series (Metal Seal
VBF VBK
D : Connection RF : Connection RF : Connection . o
(Angle) (Angle) o m W e w20 020 40 60 80 100120 140160 180 200 220 240280
~HiEZFE BI-LOK #:#t,/Dimensions BI-LOK End
Connect size Orifice Dimensions mm .
Part No. _PA_Jszenm| L | L | F | H [ M M| h || B c| a1 | w[FT7E0ES
VB*-2D-S 1/8 | 3.18 2 289 | 22.2 13 75 3.5 105 42 3.5 175 |11.11114.29 | 7/16 38 16 |M3x0.5
VB*-4D-S 1/4 | 635 | 43 | 29.7 | 222 | 154 75 3.5 10.5 42 3.5 17.5 |14.29 | 14.29 | 7/16 38 16 |M3x0.5
VB*-6D-S 3/8 | 953 | 6.3 | 31.3 | 23.8 | 17 | 825 4 13.5 | 46 35 | 206 |17.46|14.29| 7/16 | 48 19 |M4x0.7
VB*-8D-S 1/2 12.7 | 6.3 | 35.7 | 254 23 82.5 4 145 46 3.5 | 20.6 |22.23|14.29| 7/16 48 19 |M4x0.7
VB*-12D-S 3/4 |19.05| 95 | 48.4 | 381 | 24.6 | 99.5 6 19.5 54 35 | 31.8 |2858|17.46| 1/2 62 25 |M5x0.8
VB*-6MD-S — 6 43 | 29.7 | 222 | 154 75 3.5 10.5 42 3.5 175 14 |14.29| 7/16 38 16 |M3x0.5
VB*-8MD-S — 8 43 | 297 | 222 | 163 | 75 35 | 105 | 42 35 | 175 | 17 |1429| 7/16 | 38 16 |M3x0.5
VB*-10MD-S| — 10 6.3 | 332 | 254 | 17.3 | 82.5 4 145 46 3.5 | 20.6 19 [14.29| 7/16 48 19 |M4x0.7
VB*-12MD-S| — 12 6.3 | 356 | 254 | 229 | 825 4 145 46 3.5 | 20.6 22 |14.29| 7/16 48 19 | M4x0.7
~HExR BB T — /v U#E#/Dimentions Pipe thread End
Part No. Connect| ifice Dimensions mm
Ro NPT §$‘§ sizemm| L H H1 He h ht B G t W
VB*-2RF-S | VB*-2NF-S 1/8 43 | 245 75 3.5 14 42 35 | 20.6 |14.29| 7/16 38
VB*-4RF-S | VB*-4NF-S | 1/4 | 6.3 27 | 825 4 15 46 35 | 206 |14.29| 716 | 48
VB*-6RF-S | VB*-6NF-S | 3/8 | 6.3 27 | 825 4 15 46 35 | 238 |14.29| 716 | 48
VB*-8RF-S | VB*-8NF-S | 1/2 | 9.5 | 38.1 | 99.5 6 20 54 3.5 | 31.8 |17.46| 1/2 62

F7oarilE&) KbAX T VAESZ vy TR EREESNBIHEITIE,
Bottom Maunting (Option) : Symbol Mark “BT” example : VBK-4D-S-BT

_3_

REIC “BT” #fF 3 TT &L,




. Z—FIWVA Ny TNIVT
VN N Series Needle Stop Valves

ft## Specifications

=={EAE 7 Max.Working Pressure : 24.5MPa@ 38°C
{£ B #5F Working Temperature range : —10~150C
{ERRA - K - Air - RiEMES R
8 Materials
No. &n3 Part Description Qty 18 Material
1 | KF— Body 1 | SUS316
2 | AT LA Stem 1 | SUS316
3 |/¥y x> >%  Packing ring 1 |SUS316
4 | VIXyF2 V Packing 1 |PTFE+PFA
5 | /Ny F>F v b Packing nut 1 |SUS316
6 |M/Nx Disk Spring 1 |SUS304
71972 K Gland 1 | SUS316
8 |[/N> KL Handle 1 |ADC12
9 |AvTFv b Lock nut 1 | SUS316
10| 7y ov— Washer 1 | SUS304

Note : No.9 Lock nut is option.

[EFREARE (NVN)
30 ‘ ‘ ‘ ‘ ‘
. 38C
20
RF : Connection .
(V[ RS SO O N S S
5 ,,,,,,,,
MPO
0 30 60 90 120 150 180
- T
PSW : Connection
~Hi%EF BI-LOK #{§./Dimensions BI-LOK End
Connect size | .. Dimensions mm E4y760%4E
Part No. A Qrmce Cv
n mm sizemm| | L1 F H Hi1 h h1 B (0] G G1 t W E M
VNN—2D—S 1/8 3.18 2 31.7 | 25 13 71 7 16 |0.5~4| 22 |11.11| 24 22 | MigX1| 57 18 [M4x0.7| 0.1
VNN—4D—S 1/4 6.35 | 3.5 34 265|154 | 71 7 16 |0.5~4| 22 |14.29| 24 22 | Mi8X1| 57 18 |M4x0.7| 0.2
VNN—6D—S 3/8 9.53 5 37.5| 30 17 71 7 16 |0.5~4| 22 |17.46| 24 22 | MigX1| 57 18 |M4x0.7| 0.6
VNN—8D—S 1/2 127 | 71 413 | 31 23 82 8 19 |1~6| 24 |22.23| 30 27 [M22X15 70 20 |M4x0.7| 1
VNN—6MD—S — 6 3.5 34 265|154 | 71 7 16 |0.5~4| 22 14 24 22 | MigX1| 57 18 |M4x0.7| 0.2
VNN—8MD—S — 8 45 | 355 | 28 | 16.3| 71 7 16 |0.5~4| 22 17 24 22 | Mi8X1| 57 18 |M4x0.7| 0.5
VNN—10MD—S| — 100 | 63 | 378 | 30 | 173 | 71 7 16 |0.5~4| 22 19 24 22 | MigX1| 57 18 |M4x0.7| 0.6
VNN—12MD—S| — 120 | 71 412 ] 31 229 | 82 8 19 |1~6| 24 22 30 27 [M22X15 70 20 |M4x0.7| 1
~FiEFR BH T —/Y—h U#i#KDimensions Pipe thread End ThE SUAKEHEES /Dimensions Socket Weld End
— p ; 5 DEBEA Connect size | it i i
Part No. T Qnﬁce\ Dimensions mm E2y7H)Di5E o a Qrmce\Dlmensmnsmm
(Re)zenn| L [H [Hi| h [ D] hi|B|G]Gr t W[ E| M = Tmmszemn L | L2 | D
VNN—4RF—=S|1/4| 5 |29 |82 | 8 | 19| 23 |[1~6| 24 | 30 | 27 |M22x1.5| 70 | 20 | M4x0.7 VNN—2PSW-S |1/8B| 11 | 5 | 29 | 12 | 23
VNN—6RF—S|3/8| 6 |32.5/84 | 8 | 21 | 32 |1~6| 32 | 30 | 27 |M22x1.5| 70 | 25 | M5x0.8 VNN—4PSW-S |1/4B|14.3| 5 | 29 | 12 | 23
VNN—8RF—S|1/2|75|35|84 | 8 |21 |32 |1~6| 32| 30| 27 [M22x1.5| 70 | 25 | M5x0.8 VNN-6PSW—S [3/8B|17.8| 6 [32.5| 13 | 32
173 AEN, K RATYY MAES ) THEBEL ShABALE, KRI BT ERITTEL, VNN=8PSW=S 17281222 7.5] 35 | 18 | 32

Bottom Maunting (Option) : Symbol Mark “BT” example : VNN—4D—S—BT
NE L AOY 7Fy MIZRELEhBHEICIE. KREIC “P” 2HTFTT &L,
Panel Maunting Lock Nut (Option) : Symbol Mark “P” example : VNN—4D—S—P

_4_



VN series

Z—=FIWZX by TNIVT
Needle Stop Valves

ft## Specifications

T ={# A E f1Max.Working Pressure : 24.5MPa @ 38°C
{# B #5F Working Temperature range : —10~230C
{FRMEEH : A 0h—RN=—2X
Lubricant Fluorocabon base
& Materials
No. &u3 Part Description Qty & Material
1 | KF— Body 1 | SUS316
2 | AT L Stem 1 | SUS316
3 | /¥y x> Packing ring 1 | SUS316
LEPAVE 94 Packing 1| 773y RT7A1N—
A 2 Packing 2 |RF PTFE
6 | 7K Gland 1 | SUS316
7 | /Ny & >F v b Packing nut 1 | SUS304
8 |Avy7F v bk  Locknut 1 | SUS304
9 | N Kb Handle 1 |ADC12
Note : No.8 Lock nut is option.

RF : Connection

30

E/RERRE (VN)

Mlga
10 30 60 90 120 150 180 200 240
%"C
PSW : Connection
Bottom Mounting (Option)
~Hi%%F BI-LOK #fft./Dimensions BI-LOK End
Connect size o Dimensions mm E2y76)05E
Part No. A Stz Cv
n mm Size mm L L1 F H H1 h h1 B C G G1 t W E M
VN-2D-S 1/8 | 3.18 2 31.7| 25 13 82 6 13 8 22 (1111 24 24 | M20 | 57 18 |M4x0.7| 0.1
VN-4D-S 1/4 | 6.35 3.5 325 25 | 154 | 82 6 13 8 22 |14.29| 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-6D-S 3/8 9.53 5 325 | 25 17 82 6 13 8 22 |17.46| 24 24 | M20 | 57 18 |M4x0.7| 0.6
VN-8D-S 1/2 12.7 7.5 39.3 | 29 23 97 8 16 8 24 |22.23| 27 27 |M22| 70 20 [(M4x0.7| 1.0
VN-6MD-S — 6 3.5 325| 25 [ 154 | 82 6 13 8 22 14 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-8MD-S — 8 4.5 325 25 |16.3 | 82 6 13 8 22 17 24 24 | M20 | 57 18 |M4x0.7| 0.5
VN-10MD-S — 10 6.3 328 | 25 |17.3 | 82 6 13 8 22 19 24 24 | M20 | 57 18 |M4x0.7| 0.6
VN-12MD-S — 12 7.5 39.2| 29 | 229 | 97 8 16 8 24 22 27 27 |M22| 70 20 [(M4x0.7| 1.0

TR SURAKBHEES /Dimensions Socket Weld End

~HiiE BH T —/Y—1 U##E#i/Dimensions Pipe thread End

Orifice Dimensions mm B4y 7b05ES Connect size | yifics | Dimensions mm
Part No.|T(R ) Part No. A )

0 W ) sizemm | L | H|Hi | h |h|B|D|G| |G|t |W|E|M art o in_ | mm |Semm L | Lo | D
VN-4RF-S| 1/4 5 29 | 97 8 16 8 24 | 23 | 27 | 27 |M22| 70 | 20 |M4x0.7|| VN-2PSW-S |1/8B| 11 5 29 | 12 | 23
VN-6RF-S| 3/8 6 32.5| 99 8 18 8 32 | 32 | 27 | 27 |M22| 70 | 25 |M5x0.8/| VN-4PSW-S|1/4B|[14.3| 5 29 | 12 | 238
VN-8RF-S| 1/2 71 35 | 99 8 18 8 32 | 32 | 27 | 27 |M22| 70 | 25 |M5x0.8/| VN-6PSW-S|3/8B[17.8| 6 |32.5| 13 | 32
FTYaLCkN, FRATY L NEES y THEBEE ShBBAICE, KBIC “BT” £ TTFay, (NWBPSWS[1/2B]222] 71 | 35 | 13 | 32

Bottom Maunting (Option) : Symbol Mark “BT” example : VN-4D-S-BT

NI NERY 7y MiEDEESNBHEICE. REIC

P” £ TTFE W,

Panel Maunting Lock Nut (Option) : Symbol Mark “P” example : VN-4D-S-P

_5_




VBM series

WEREFHER
Fine Metering Valves

ft## Specifications

= 1% E 77Max.Working Pressure:6.9Mpa @ 38°C
{£ /B #5F Working Temperature range : —30~120C
FEAEBEI: YU AN—X, ZILFAH—FRN—2
Lubricant Silicon base, Fluorocabon base
Cv{# (Orifice) :0.03 (1.5mm), 0.18 (3.2mm)
M'E Materials
No. &h% Part Description Qty 18 Material
1 | KF— Body 1 |SUS316
2 | AT L Stem 1 | SUS316
3 |0U>7 O-ring 1 |FKM
4 | ZFLHAR Stem guide 1 | RF PTFE
5 | K>xy b Bonnet 1 |SUS316
6 Oy 7Fv b Lock nut 1 | SUS316
7 |y X711 17 Setscrew 1 | SCM435
8 | /N>R Handle 1 | SUS304
9 |ty X7 1) 17 Setscrew 1 | SCM435
i E R (FineMateringType) VBM (3.2mm)
10
9 —_—
et 1
27
£ 6 I
i v
@ > &
24
2\ '
Z 3
2
1 ‘/O/V
CviE 0 0.05 0.1 0.15 0.2 0.25
e
NIVTIEBTIRICIEEZET SN THE W EE A,
R Er#R (FineMateringType) VBM (1.5mm)
10 X
9 ed
/V
3 8 —{=0—1.5mm}
37
ﬁ 6 /N
| 5 Pl
D A/
24
33 e
2 K
i }}of"
D : Connection 0 &
(Angle) CviE0 0005 001 0015 002 0025 003 0.035
~H&% BI-LOK #&#%.Dimensions BI-LOK End
Part No. ConnztA:t size Qrifice Dimensions mm
—fA__iszemm| L | Lt | F | H [H | h | m | he| B | C| G|t
VBM*-4D-3-A 1/4 | 6.35 15 | 283 | 20.8 | 154 91 5 25.1 3.5 | 325 14 |14.29 |17.46| 7/16
VBM*-4D-5-A 1/4 | 6.35 | 3.2 | 29.5 22 15.4 91 5 25.1 3.5 | 325 14 | 14.29 |17.46| 7/16




VE series

Z—FNIWZX b~y TNNI7
Needle Stop Valves

RF : Connection
(Angle)

1% Specifications

B={#HE 7IMax. Working Pressure : 6.9MPa @ 38C

{E R E &5 Working Temperature range : —10~100C
FREEH : 740 —KRN—2X

Lubricant Fluorocabon base
#E Materials

5% Part Description Qty | #E Material

1 K7 — Body 1 |SUS316

2 | AT L Stem 1 | SUS630

3 |/Ny X212 Packing ring 1 |SUS316

4 [/INyF2 Packing 1 |PTFE

5 | /NyFx> Packing 1 |PTFE

6 |77 F Gland 1 | SUS316

7 |8y ¥ >F v b Packing nut 1 | SUS304

8 [N FKRIL Handle 1 |ADC12

9 |Av7Fv b Lock nut 1 | SUS304
Note : No. 9 Lock nut is option
/'Dimensions Pipe thread End

T |Orifice L
Part No. size H |H1| D t | W |Cv
(Re)| mm |$447|A447

VE-2RF-S| 1/8 | 4 | 48 | 24 | 61 6 | 22 (M16| 47 | 0.4
VE-4RF-S| 1/4 | 5 | 48 | 24 | 61 6 | 22 [M16| 47 | 0.7
VE-6RF-S| 3/8 | 5 | 54 | 27 | 61 | 6 | 22 |M16| 47 | 0.8
VE-8RF-S| 1/2| 7 | 65 |32.5| 72 | 8 | 30 (M18| 57 | 1.2
VE-12RF-S| 3/4 | 9.6 | 76 | 34 |100.5| 10 | 42 (M28| 70 | 1.4

FToaricky Nz NEOY I Fy MiEQEE
h3I54ICIE. REIC “P” &[T ES L,

Panel Mounting Lock Nut (option) : Symbol Mark “P”
example : VE-4RF-S-P

VET series

Z—KIWZA by TNILT
Needle Stop Valves

11 Specifications

B={#AE 7IMax. Working Pressure : 1MPa @ 38C

{# B E & Working Temperature range : —10~100C

{ERRAS © - K - Air - REMEA X

& Materials

No. fm%% Part Description Qty | #& Material

1 [R7— Body 1 |SCS13A

2 | AT L Stem 1 | SUS304

3| 7T1XY Disk 1 | SUS304

4 |KRxv b Bonnet 1 |SCS13A

5 | HZXT vy b Gasket 1 |PTFE

6 |Tyov— Washer 1 | SUS304

7 | 77> KXy x> Gland Packing | 1 |PTFE

8 |JFK Gland 1 | SUS304

9 |/NyF>F v b Packing nut 1 |SUS13A

10 | /N> FIb Handle 1 |ADC12
TiEk AT —/S—hU#E#E/Dimensions Pipe thread End

Orifice
Part No. size | L H | H1 h ht | W | Cv
mm

VET—4RF—S| 10 | 44 | 67 | 23| 19 | 19 | 57 |0.77

VET—6RF—S| 10 | 45 | 68 | 2.7 | 20 | 22 | 57 |0.99

FEHIET T

CviE (MAX) R%
15| /4077
n 3/8:-+0.99 Rc1/4/
4
}Il: 1 /
@
o =
# 05
0-_——/

0 0.2 0.4 0.6 0.8 1




VQ series

Z—KNIWZX Ny TNNIVT

Stop Valves
ft## Specifications
=={EAE 7 Max.Working Pressure : 2.9 MPa @ 38°C
{# /B EE #5F.Working Temperature range : —10~100C
Cv{# (Orifice) : 0.4
FREEH: YV ~N—2, ZiFAH—K~N—2
Lubricant : Silicon base, Fluorocabon base
#E Materials
No. &h% Part Description Qty 118 Material
1 | KF— Body 1 |SUS316
2 | AT L Stem 1 | SUS630
3 [/NyFx>1)>Y  Packing ring 2 |SUS316
4 |VINy x> V Packing 1 |PTFE
5 | K>xy b Bonnet 1 |SUS316
6 Ay 7Fv b Lock nut 1 |SUS316
7 [N FRL Handle 1 | A2024
8 |/¥xJvdy 77 hPanel Lock Nut| 1 |SUS304

D : Connection

RF : Connection

RF : Connection

(Angle) (Angle)

~Hi&% BI-LOK ##t,/ Dimensions BI-LOK End

Part No. Tube O.D Orifice Dimensions mm

Straight in mm |sizemm| L L1 F H H1 h h1 B C G t W
VQ-4D-S 1/4 6.35 3.5 29.8 | 22.3 15.4 59 3 — — 17 14.24 — — 36
VQ-6D-S 3/8 9.53 4.3 315 24 17 59 3 — — 17 17.46 — — 36
VQ-4D-S-P 1/4 6.35 3.5 33.5 26 15.4 59 3 14 6.5 22 14.29 22 M18 36
VQ-6D-S-P 3/8 9.53 4.3 33.5 26 17 59 3 14 6.5 22 17.46 22 M18 36

M, XX NEOY 7F Y MIDE
STERERT—/N—hUER/

S NVTOERBTEIAY 7F Yy MFIDBEEREVET,

Dimensions

Pipe thread End

Part No. Part No. T Orifice Dimensions mm
Straight Angle (RC) |sizemm| L H H1 h ht B G t w
VQ-4RF-S 1/4 4.3 24 59 3 — — 17 — — 36
VQ-4RF-S-P 1/4 4.3 26 59 3 14 6.5 22 22 18M 36
VQ-4RF-A 1/4 4.3 23.5 53.3 3 — — 17 — — 36
VQ-4RF-A-P 1/4 4.3 26 59 3 14 6.5 22 22 18M 36

T a2 &) NRxTT L NEOY 7y MIERBEESINBFEICIE, REIC “P” £ TLEI N,
Panel Mounting Lock Nut (option) : Symbol Mark “P”
example : VQ-6D-S-P

_8_




VC

BBRAAIUa0R 2y MEANYTINIVT
Screw Bonnet type Stop Valves for Low

ft#% Specifications

= {# FE 77Max.Working Pressure : 10.3 Mpa @ 38°C

{5 B E g Working Temperature range : —196~120C

fEREBH 2L TF7oN—X

Lubricant MoS2 base
& Materials
No. fm+% Part Description Qty #1& Material
1 [K7— Body 1 |SUS316
2 | F14RY Disk 1 |SUS316
3 | AT L Stem 1 |SUS316
4 |RK>xy b Bonnet 1 |SUS316
5 | HZXy b Gasket 1 |SUS316
6 |/Sy x> Packing ring 1 |SUS316
7 |8y T7Fy b Lock nut 1 | SUS304
8 [Ny Fx Packing 3 | Cabon Fiber
9 [Ny Fx Packing 3 | Graphoil
10| 752K Gland 1 |SUS316
11 | /¥y F>F v b Packing nut 1 | SUS304
12 [ N> KL Handle 1 |ADC12
PSW : Connection
RF : Connection
(Angle)
~Hisk BB 7 —/Y—1h Ui/ Dimensions Pipe thread End
T Orifice L L1 H h
Part No- 1 (Re) |size mm| §417 | ARAT | A%47 [8247 [Aa17 | ' [S547 [AsA7| b | @ ! bl ]
VC-2RF-S 1/8 5 25 26 24 169 157 5 90 79 10 20 30 M24 70 0.3
VC-4RF-S 1/4 5 28 31 28 169 157 5 90 79 10 22 30 M24 70 0.5
VC-6RF-S 3/8 6 30 33 30 169 157 5 90 79 10 25 30 M24 70 0.9
VC-8RF-S 1/2 71 35 38 35 169 157 5 90 79 10 32 30 M24 70 1.2
~HEF LA HIB#EER ./ Dimensions Socket weld End
Part No. __A QIED) Lo H H h hi D G t W | cviE
in mm |size mm
VC-4PSW-S 1/4B 14.3 5 28 12 169 5 90 10 24 30 M24 70 0.5
VC-6PSW-S 3/8B 17.8 6 30 13 169 5 90 10 26 30 M24 70 0.9
VC-8PSW-S 1/2B | 22.2 71 35 13 169 5 90 10 32 30 M24 70 1.2




VH series BRAL=A K3y MEZ—FIVZ Ry 70T
Union Bonnet Needle Stop Valves for High temperature service

ft## Specifications

= {# FE 77Max.Working Pressure : 24.5Mpa @20°C
{5 B #5F Working Temperature range : —10~400C
EREEE : ZFETY I 7 oN=X

Lubricant MoSz2 base

& Materials

No. &h3 Part Description Qty 18 Material
1 | £7— Body 1 |sus316
2 | TRy Disk 1 | SUS316
3 | AT L Stem 1 | SUS630
L PAVE 94 Packing 2 | Graphite
5 [Ny x> Packing 2 | Graphite
6 |1=7*>7F vk Unionnut 1 | SUS316
7 |Rxy b Bonnet 1 |SUS316
8 |JF7 K Gland 1 |SUS316
9 | XRTFLAHANR Stem guide 1 | SUS304
10| Ay 7F v b Lock nut 1 | SUS304
" xvy 7 Cap 1 | SUS304
12 | N> Kb Handle 1 |ADC12
13|+ vk Nut 1 | SUS304

[EREARE (VH)
30

-0 50 100 150 200 250 300 350 400 450

PSW : Connection RF : Connection
~Fi%3 BI-LOK #%#t,/Dimensions BI-LOK End
T D if V7 BIDBE
Part No. Tube O mes | L1 F H Hi | He B c w |[ER/TENORE .
n mm Silze mm E M
VH-4D-S 1/4 | 6.35 | 35 | 405 33 15.4 | 135 8 16 32 | 1429 | 70 28 | Méx1 | 0.2
VH-6D-S 3/8 9.53 55 40.5 33 17 135 8 16 32 17.46 70 28 M6x1 0.5
VH-8D-S 1/2 127 | 75 | 433 33 23 135 8 16 32 |2223| 70 28 | Mex1 | 0.9
VH-6MD-S 6 6 35 | 405 33 15.4 | 135 8 16 32 14 70 28 | Mex1 | 0.2
VH-8MD-S 8 8 4.5 40.5 33 16.3 135 8 16 32 17 70 28 M6x1 0.3
VH-10MD-S 10 10 55 40.8 33 17.3 135 8 16 32 19 70 28 M6x1 0.5
VH-12MD-S 12 12 7.1 43.2 33 229 | 135 8 16 32 22 70 28 | Mex1 | 0.9
~HEER BRAT—/N—hUER. & UAKBERER/Dimensions Pipe thread End, Socket weld End
Screwed Part Socket weld A T Orifice
[El
No. Part No. in mm (Rc) |size mm = Le it i ik e o i cvia
VH-4RF-S VH-4PSW-S 1/4B | 14.3 1/4 5 29 12 135 8 17 32 23 70 0.6
VH-6RF-S VH-6PSW-S 3/8B 17.8 3/8 6 32.5 13 135 8 18 32 32 70 0.8
VH-8RF-S VH-8PSW-S 1/2B | 22.2 1/2 71 35 13 135 8 18 32 32 70 0.9




@ Cleanness by Purpose

THARA
SCIENCE

laphragm
Valve

High Pressure Diaphragm Valve
(16.2MPa)

DVEK serles

IHARA SCIENCE CORPORATION



[Features]

DVEK Series vlaves are the metal diaphragm seal valve for high pressure with excellent cost performance ,

developed to contribute to energy and resource conservations which is becoming a major assignment in recent
days.

Specification

M Diaphragm made of Ni—Co alloy is installed. Realized high airtightness and high durability.
B Parts contact with fluid are precisely rinsed and treated oil free.
B Assembles and packaged in a clean room.

B Minister certification, Type N-valves

Nominal Size

1/4”

Connection(3%1)

VTF(Metal Gaskrt Seal)

BI-Lok (Double ferrule fitting)

Work Pressure Vac.~16.2MPa Weight(%%2) 485g

Work Temp. -10~+80°C Inner volume (3%(3) 1.2cc

Cv value 0.1 Durability (3%4) =400,000 times
(%1) (3%3)

Other connection types available. Inquire us.

(%2)

VTF connection (male). Differ from connection-size.

Material of Main parts

Parts Name Material
@® Body SUS316L
@ Disk PCTFE
® Diaphragm Ni—Co alloy
@ Disphragm retainer SUS630
® Bonnet SUS304
® Casing SUS304
@ Cover A5056

Nomenclature

Ex) DVEK - 4VM - NC - EP [1/4”VTF Male connection,

Value at VTF male connection-valve open

(%4)

Test result under sealed with N2 gas of 16.2MPa.

o,

DVEK-DQ@-9-@

Automatic Valve Normal close, Electro—polising]

@

©)

Code| Size Code| Connect'n Code Actuation Code Inner Finishing
4 |1/4” VM | VTF(M) NC Normal Close EP | Electro—polising(Less Ra0.18)
VF | VTF(F) BA Mechanical-polising(Less Ra0.8
D BI-Lok




Table of Dimemsions

¢ 37.5
Rcl1/8
ié I %E VTF(Male) (mm)
B =1 (| HE ] Type Size L
| _ | |
= =) = DVEK-4VM 1/4” 58
L
- 4
<
N VTF(Female) o)
(] Type Size L
J[ [=—-2N JL ”
%%l DVEK-4VF 1/4 70.6
L
:—— LA — ).
L Bl-Lok ()
2-M5 Depth 6 ?17 ] Type Size L
= —-lL\ — — - ”
1/ &N\ L J DVEK-4D 1/4 64
QO S D i

WARNING

If you don't select and handle fittings, valves and related accessories in an adequate manner,
it may damage human beings and applicable systems.

Within the responsibility and authorization of usersand piping designers, fittings, valves and
related accessories shall be adequately selected, assembled, used and maintained based on
the applicable conditions and product conformity to the system to be applied.

Please read carefully our operation manual and feel free to cantact with Ihara if you have
any question or request.

,\[f} [HARA SCIENCE CORPORATION
URL: http://www.ihara—sc.co.jp
Head office : 3—-11-3, Takanawa, Minato—Ku, Tokyo, Japan 108-0074

Tel: +81-(0)3-6721-6981
Fax:+81-(0)3-6721-6991

CAT No.122R1




THARA
SCIENCE

laphragm
Valve

High Pressure Diaphragm Valve
(16.2MPa)

DV series

IHARA SCIENCE CORPORATION



[Features]

DVK Series Valves are the metal diaphragm seal valve for high pressure which are excellent in cost

performance.

B Diaphragm made of Ni—Co allloy is installed. Realized high airtightness and high durability.
B Parts contact with fluid are precisely rinsed ant treated oil free.
M Assembled and packaged in a clean room.
B Minister certification, Type N-valves

Specification

Nominal size

1/87~1/2"

Connection(3%1)

VTF(Metal gasket seal fitting)

BI-Lok (Double ferrule fitting)

Work Pressure Vac.~16.2MPa Weight(%%2) 350g

ek TR, —10~+80°C Inner volume (3%¢3) 1.4cc

Cv value 0.1 Elchifis e = 50,000
Gx1) (3%3)

Other connection types are available. Inquire us.

(%2)

VTF1/4” (Male) connection. Differ from Connection type and Size.

Material of Main parts

Parts Name Material
@® Body SUS316L
@ Seat PCTFE
® Disphragm Ni—Co Alloy
@ Bonnet SUS304
® Handle A5056

Nomenclature

Value at VTF1/4”(Male) connection*valve open

(%4)

Test result under sealed with N2 gas of 16.2MPa.

U

DVK-D @ -3

Ex) DVK - 4VM - EP [1/4”"VTF Male connection electro—polishing]

O) @ ©)
Code| Size’ Code |Connection Code |Internal finishing
2 |1/8” VM |[VTF(# R) EP |Electro—polising(less Ra0.18)
4 |1/47 VF |VTF(AX) BA |Mechanical polising (less Ra0.8)
6 |3/8” D |BI-Lok
8 [1/2”



% é VTF(Male) o
il BN Type Size L | H | h
= | - - DVK-4VM 1/4” | 56 | 70 | 11
5 frh - DVK-8VM 1/2” | 67| 74 | 16
l

_ / VTF(Female) o
E 1 4’ Type Size L H h

j t DVK-4VF 1/4” | 70 | 70 | 11
T ] ||: - DVK-8VF 1727 | 82| 74| 16
L
BI-Lok

2-M5 Depth 6 (mm)
@?’ ™~ | Type Size L H h

ﬂ / ¢2 I_IL — ) _— ”
L[] M) - i DVK-2D 1/8 57 | 70 | 11

SN I i
- - DVK-4D 1/4” | 62| 70 | 11
L DVK-6D 3/8” | 67| 70 | 11
DVK-8D 1/2” | 72| 74 | 16
WARNING

If you don't select and handle fittings, valves and related accessories in an adequate manner,
it may damage human beings and applicable systems.

Within the responsibility and authorization of usersand piping designers, fittings, valves and
related accessories shall be adequately selected, assembled, used and maintained based on
the applicable conditions and product conformity to the system to be applied.

Please read carefully our operation manual and feel free to cantact with Ihara if you have
any question or request.

@ ITHARA SCIENCE CORPORATION

URL: http://www.ihara—sc.cojp
Head office : 3—11-3, Takanawa, Minato—Ku, Tokyo, Japan 108—0074

Tel: +81-(0)3-6721-6981
Fax:+81-(0)3-6721-6991

CAT No.126R0



THARA
SCIENCE

Ultra Light Weight - Compact Type
Digphragm Valve Internal Tube Fittings(TMPa)

AATAZ] =7 SUN

IHARA SCIENCE CORPORATION




KAIHEI-KUN Metal Diaphragm Valve Internal Tube Fittings (1MPa)

[Features]

The KAIHEI-KUN Series features pipe joints with internal metal diaphragms offering lighter weights, compact size
and outstanding cost-performance in comparison with conventional metal diaphragm valves. Thanks to a new
concept featuring pipe joints as the key element, valve functions are on the same level as the existing metal

diaphragm valve DVE Series while realizing outstanding light weight.

MlFeatures a stainless steel diaphragm to realize outstanding airtightness and durability (also available in Ni-Co alloy diaphragm specifications).

W Valve open/close possible with approximately 90 degree rotation (Standard: round handle).
MDegrease cleansing treatment by precision cleaning of wetted parts.
Ml Clean-room assembly and packing.
M Optional specifications: Bottom-mount brackets and handles also available.

Specifications

Nominal Size 1/4” 3/8"&1/2" Nominal Size 1/4” 3/8"&1/2"
Working Pressure Vac.~1MPa (Mar;u1a;\éalve) (Mar;:g:)\;alve)
)
Working Temperature -10~+80°C B (Automatic Valve) (Automatic Valve)
Range 235¢g 475¢g
Cv Value ™" 0.3 0.7 Inner Volume *¥ 1.3c 4.9cc
VTF (Metal Gasket Seal Type Fittings) (Manual Valve) More than 100,000 times
Connection Fittings *” | BI-LOK (Double Pressure Ring) Operation Durability ** | (Automatic Valve1/4") | More than 2,000,000 times
(Automatic Valve3/8",1/2") | More than 2,000,000 times
(1) (<3)
VTF (male) connection. Varies according to connection and size. VTF (male) connection: Value in valve-open state.
(2) (x4)

Can also be used with other connections. Please contact our Sales Division. 1MPa: Our company’s test values in N2 gas insertion test.

Main Materials

Part Name Material R
@ Body SUS316L
@ Disk PCTFE \lj
® Diaphragm SUS631/Co-Ni Alloy
) Diaphragm Retainer SUS304
® Bonnet SUS304 -
® Handle Resin Treatment I =) - C
@ Bonnet SCS13A e} I i 1
Cover A5056 U—Lzsr —— 1| J_U @;eh,—L\AZ,J

DVF- D @-3®-®-®-®

example) DVF -4VM-NC-EP-SS-B [1/4"VTF male connection Normal Close Electolytic grinding process SUS diaphragm With Bracket]

@ @ ® @

Mark| Size Mark| Connection Fittings Mark Operation Mark| Internal Surface Processing
4 |1/4” VM | VTF (male) Processing Manual EP |Electrolytic Grinding Process (Ra0.18 or less)
6 |3/8” VF | VTF (female) NC | Normal Close BA | Machining (Ra0.8 or less)
8 |1/2” BI-LOK NO | Normal Open

® ®

Mark| Diaphragm Material Mark| Bracket
SS SUS631 B | Existence
C Co-Ni Alloy Processing| Nothing




Dimensions (manual)

VTF (Male) (mm)
_ @% E_ Model Sizef L | H W
i (=) ] DVF-4VM 1/4"| 58 |38.2| 40
L DVF-8VM 1/2"| 76 |41.3| 40
I ¢W ]
| | VTF (Female) -
U:\/ \[:” — f% L Model Sizel L | H| W
== DVF-4VF 1/4"|70.6/38.2| 40
— — L DVF-8VF 1/2"| 90 |41.3| 40
==
B BI-LOK )
%ﬁ Model Sizefl L| H| W
T =T DVF-4D 1/4"| 64 |38.2| 40
| | — 1 |
L S DVF-6D 3/8" 77 |41.3] 40
DVF-8D 1/2"82.6/41.3| 40

Dimensions (automatic)

VTF (Male) (mm)
_ %l l:_ Model Sizee L | H| W
i = | DVF-4VM-NC/NO |1/4"| 58 |53.3| 40
oW L DVF-8VM-NC/NO [1/2"| 76 |59.3| 54
Rcl/8
— VTF (Female) (mm)
“:l %% E— Model Size| L H W
— DVF-4VF-NC/NO |1/4"|70.6/53.3| 40
- DVF-8VF-NC/NO [1/2"| 90 |59.3| 54
BN —_ HiN
L {L 1] BI-LOK
3 (mm)
%ﬁ Model Sizefl L| H| W
T =11 DVF-4D-NC/NO |1/4"| 64 |53.3| 40
| — 1
. . DVF-6D-NC/NO |3/8"| 77 |59.3| 54
DVF-8D-NC/NO |1/2"|82.6|59.3| 54




Dimensions (bracket)

Optional Specifications: with a Bracket
- (mm)
== .
Size h A B| C
-~
CTu_l — N1THR 1/ 11| 26 | 26 |25.4
' 3/8" 16 | 34 | 32| 28
2-M5 A
S 1/2" 16 | 34 | 32| 28
S

o [T e
[] \

*Bracket board thickness: 2mm

]

A plant with ISO 9001/14001 certifications.
Authorized division by the high pressure gas safety institute of japan (N valve type, N-Il joint type).

TUV rheinland certification. . Caution

Inappropriate selection and improper handling of fittings, valves and related
accessories can result in physical injuries and damaged to the system. Fittings,

@ IHARA SCIENCE CORPORATION i syt cginrs an i usrs with e conoiranon o hoF COmpethily

the systems to which they are applied and the condition of their use, and must be
proper installed, operated and maintained. Please read the Instructions prior to use
for a thorough understanding of contents. If you do not have Instructions or if there
are unclear matters, please contact the Sales Department of our Operations Division.

Head Office
« 11-3 Takanawa 3-chome Minato-ku, Tokyo 108-0074 Japan
TEL: +81(0)3-6721-6981 FAX: +81(0)3-6721-6991

BURL: http://www.ihara-sc.co.jp/
M The contents of this catalogue are subject to change without prior notice due to product improvement, etc.
CAT No.123R2



Cleanness by Purpose

THARA
SCIENCE

Pipe-Welded Y-Type
Bellows Seal Valve

PIB seres

10k-80A

IHARA
e
SUS316L

IHARA SCIENCE CORPORATION



PYB Pipe-Welded Y-Type Bellows Seal Valve (1MPa)

[Features]

Pipe—Welded Y-Type Bellows Seal Valve(PYB Series) have being developed to reduce troubles (3% 1)
due to the surface defects of conventional cast steel body.
At the same time, delivery lead times becomes much shorter.

Valve body consists of steel pipes, achieves significant weight reduction and high cleanliness.

Equipped with metal bellows seal achieves high airtightness and high durability.

Achieves high performance of Cv value through Y—type structure and high lift design.

Wet contact parts are oil-free treated by precision cleaning.

Carry out assembly, inspection and packaging. in the clean room (class 1000).

Compared with conventional cast steel valve, achieve short lead time as the body is made of steel pipes.

(3%1) Poor appearance due to pin holes, cavities, residual oil, particles generation, etc.

Specification

Nominal size 40A | 50A | 65A | 80A | 100A| 125A 40A 55 125A 510

150A | 200A | 250A | 300A| - = 50A 85 150A 730

Working pressure Vac.~1MPa Cv value 65A 160 200A 1200
Working temperature -10~+80°C 80A 220 250A 1800
Internal *2 | <1 x 10 °Pa-m’/sec. 100A 345 300A 2600

Leak amount =T 3
External | 5% 10 ""Pam"/sec.

(%2) Case of PTFE seat. Depends on the material. 40A Skg 125A 48kg
(3¢3) Case of butt welding of Sch.5S. Depends on connection. 50A Tkg 150A 70kg
Weight™® 65A 12kg 200A 112kg
80A 23kg 250A 260kg
100A 29kg 300A 322kg

Main Materials

Parts Name Material S
%

0 Body 316L SS v

Disk PTFE g
@ ) 7
©) Disk Holder 316L SS 1 //
@ Bellows 316L SS 3 8

2 N 4

® Bellows Flange 316L SS 4
® Gasket PCTFE g . 6
@ Bonnet 304 SS _ S
Handle Ductile Iron

Model Numbering

PYB-D ®-6LCT-®

Ex.) PYB-50PW5-6LCT-EP [50A Sch.5S Pipe BW, PTFE Disk, PCTFE Gasket, Electropolishing]

(3%4) Other connections are available. Contact us.

O) @ ®
Mark Size’ Mark Size’ Mark | Connection™? Mark | Internal Finish
40 40A 125 125A PW5 | pipe | Sch.5S Ep EP Grade
50 50A 150 150A PW10| (BW) | Sch.10S (ZRa0.18 ' m)
65 65A 200 200A BA BA Grade
80 80A 250 250A (=Ra0.8 £ m)
100 100A 300 300A



4 N
Ve
I
\
~
!
. t .

Size H L L1 D Soh5S Soh.10S w Lift
40A 214 235 50 48.6 1.65 2.8 125 26
50A 249 260 49 60.5 1.65 2.8 160 34
65A 289 310 53.5 76.3 2.1 30 180 44
80A 365 400 77 89.1 21 3.0 250 52.5
100A 406 470 71.5 1143 21 3.0 280 64
125A 466 550 73 139.8 28 34 300 85.5
150A 533 640 73.5 165.2 28 3.4 355 88.5
200A 625 800 84 216.3 28 40 400 100.5
250A 1005 980 1125 267.4 34 40 600 150
300A 1082 1100 107.5 318.5 4.0 4.5 600 170

(3%) Sizes of 250A~300A are different structure from above drawing.
High Flow Types, Pneumatic Operation, Purge Ports are available upon requests.

ISO9001, ISO14001 Certified Office

Certified office for high—pressure gas facility testing and manufacturing,

&

certified office for N valves and N-II fittings

IHARA SCIENCE CORPORATION

@ Head Office
11-3 Takanawa 3—chome Minato—ku, Tokyo 108-0074 Japan
TEL:03-6721-6981 FAX:03-6721-6991

@IHARA SCIENCE TAIWAN Co.,Ltd @ NANTONG IHARA SCIENGCE Co.,Ltd
B2, 7F, No. 51, Sec. 2, Gongyi Rd., Nantun Dist., Taichung City No.1692-8 Xinghu Road, Economic & Technological
408330, Taiwan (R.0.C.) Development Zone, Nantong, Jiangsu 226010 P.R.China
TEL:+886-4-2319-1116 FAX:+886—4-2319-1126 TEL:+86-513-89072116 FAX:+86-513-81520182
@IHARA KOREA Co.,Ltd @ IHARA SCIENCE USA CORPORATION
Digital Empire II 103-905, Sinwon-ro 88, Yeongtong—Gu, 17971 Sky Park Circle, Suite B, Irvine, California 92614 U.S.A.
Suwon-Si Gyeonggi—Do, 443-734, South Korea TEL:+1-949-387-3727 FAX: +1-949-387-3739
TEL:+82-31-695-6800 FAX:+82-31-695-6808
A\ WARNING WARRANTY CLAUSE
If you don’ t select and handle fittings, valves and related 1. Warranty Period
accessories in an adequate manner, it may damage The warranty period of the products is one (1) year from putting into service
human beings and applicable systems. or one and half (1.5) years after delivery whichever comes earlier.
Within the responsibility and authorization of users and However, the products specially specified and/or the cases used under
piping designers, fittings, valves and related accessories deviating from the specification shall be exempted.
shall be adequately selected, used and maintained based 2 Scope of Warranty
on the applicable conditions and product conformity to Any failure and damage under maker’ s responsibility will be found during the
the system to be applied. Please read carefully the warranty period, the substitutes and/or replacement parts shall be provided
operation manual and feel free to contact with lhara if free of charge. The warranty shall not be applied to a claim for the

B URL : http://www.ihara=sc.co.jp/
B Please be advised that the contents of this catalogue may be revised without notice when improvements or modifications are made on the time.
CAT No.128R5



El.k Cleanness by Purpose

f N JHARA
\J SCIENCE

ellows

Valve

Compact and Light-weight
Bellows Seal Valve (1 MPa)

G C V serjes

IHARA SCIENCE CORPORATION



GCV Bellows Seal Glove Valve (1 MPa)

[Features]

GCV Series Bellows Seal Glove Valve is a light and compact bellows valve with excellent cost effectiveness, developed
to contribute to the energy conservation and resource conservation, which is becoming a major assignment in recent
days. With the basic performance equal to the conventional CVL series, it was made compact by reviewing each part. The
switching indicator was also modified, making it easier to check if the valve is opened or closed.

H High sealing performance and durability are realized by equipping with a metallic bellows seal

B Equipped with a switching indicator making it possible to check if the valve is opened or closed with a glance
H No impurities by precision cleaning of the parts contacting the fluid

B Assembly and packaging in the clean room

Specification Parts Number Structure

Nominal size 1/4" ‘ 3/8" ‘ 1/2"
Operating pressure Vac. to 1 MPa ch = |:| D = l:' - D
T T 3
Operatin J
P 9 -10 to +80 °C
temperature Symbol| Size Symbol Operation
Cv value " 0.35 ‘ 0.85 4 1/4" Blank Manual
VTF (Metal gasket sealing type) 6 3/8 NC Normally closed
8 1/2" NO | Normally opened
End connections 2 Bl-Lok (Double ferrule type)
Tube stub Symbol | End connection Symbol Internal surface process
*1) VM VTF (male) EP Electrolytic polishing
In case of VTF (male) connection. It will be different depending on the VF VTF (female) BA Mechanical processing surface
connection and/or the size. D Bl-Lok
(*2)
Other connections are available as options. Please contact our Sales W Tube stub

Department.

Primary Materials

Parts name Material :
M Body 316LSS
(2) Disc PCTFE
3) Bellows 316L SS
(4) Gasket 316L SS (PFA coating)
(5) Bonnet 304 SS
6) Handle ADC12 S — _n
7) Bonnet 304 SS _]]
N =
(8) Cover A5056
Comparison with the Conventional Model
Manual New model GCV CVL Difference §
1/4" 70.2 mm 89 mm -18.8 mm
Overall height
1/2" 81.2 mm 94 mm -12.8 mm o
1/4" 220g 290 g 709 b
Weight
1/2" 3209 3809 -60 g
Automatic New model GCV CvVL Difference =
1/4" 71.5mm 97.2 mm -25.7 mm } {
Overall height ! P T o
12" 91 mm 102.2mm| -11.2mm @ - WJ" = 5 [[ I =)
Weiah 1/4" 270g 4209 -150 g Ly & = .t { ffﬁ' w
gt [ ool Ol
12 4309 5109 -80g @] 2‘ﬂMJ'{M 3 | UL
(Weight is for the VTF male connection) Gov1/4 L/ aovaz2 CvL1/2




Measurement Table (Manual)

VTF (Male) (mm)
ﬂ_ g % — _h Model Size L H h
GCV-4VM 1/4" 58 59.2 11
]L [ — J /
GCV-8VM 1/2" 65 65.2 16
238
GD VTF (Female) i)
| Model Size L H h
. JL {| GCV-4VF 1/4" 70.6 59.2 11
T
L GCV-8VF 172" 82 65.2 16
=l -
1 ] ll: Bl-Lok —
< — —™ =
Model Size L H h
L — —
GCV-4D 1/4" 64 59.2 11
. L N JJJL -
2-M5 Depth 6 GCV-6D 3/g" 77 65.2 16
. L
) | — GCV-8D 1/2" 82.6 65.2 16
(] %, B
LI A
L‘—j Tube stub i)
Bottom mount is common for all types g Model Size L H h
GCV-4TW 1/4" 100 59.2 11
|
\ GCV-6TW 3/8" 110 65.2 16
GCV-8TW 1/2" 110 65.2 16
Measurement Table (Pneumatic actuation)
Rc1/8
VTF (Male)
oW (mm)
] e l Model Size L H h w
= GCV-4VM-NC/NO 1/4" 58 60.5 1 385
GCV-8VM-NC/NO 1/2" 65 75 16 445
I
J_ 2-M5 Depth 6
< = oS —>— - |—|]
L

Bottom mount is common for all types




Measurement Table (Pneumatic actuation)

Rc1/8
oW VTF (Female) (mm)
l —— l Model Size L H h w
= GCV-4VF-NC/NO 14" | 706 | 605 1 385
GCV-8VF-NC/NO 172" 82 75 16 445
T
2-M5 Depth 6
L J R
< J ——— JL —
L
Bottom mount is common for all types
Model Size L H h w
GCV-4D-NC/NO 1/4" 64 60.5 11 385
B JL[ " JJL — GCV-6D-NC/NO 3/8" 77 75 16 445
L
GCV-8D-NC/NO 1/2" 82.6 75 16 445
Tube stub (mm)
’—%g’\n—‘ Model Size L H h W
GCV-4TW-NC/NO 1/4" 100 60.5 11 385
oS
N GCV-TWD-NC/NO 3/8" 110 75 16 445
I 1
GCV-8TW-NC/NO 1/2" 110 75 16 445

CAUTION: Improper selection or handling of fittings, valves
or related accessories may cause damage to operators
or systems. Select appropriate fittings, valves or related
accessories after careful consideration of the compatibility
with the system being used and the operating conditions

I509991 /ISQ14001 Cgrtiﬁed Office - . . based on judgments made regarding the responsibility
Certified office for high-pressure gas facility testing and manufacturing, and limitations of both the system architects and the users.

certified office for N valves and N-Il fittings

" R X Furthermore, make sure to perform proper installation,
TUV Rheinland Japan Ltd. Certified Plant

operation, and maintenance. Read the instruction manual

h carefully before use, and fully understand the contents. If
do not have the instructi l'orif you h
\I; THARA SCIENCE CORPORATION | 0500 i comactyour s iesoftee.

Sales Division

« Head Office: 13-17 Oi 4-chome, Shinagawa-ku, Tokyo, 140-0014, Japan + Kansai: 4-1-18, Tenman, Kita-ku, Osaka, 530-0043, Japan
Phone: 03-5742-2221 Fax: 03-5742-2231 Phone: 06-6358-9255 Fax: 06-6358-9260

« Chubu: Chiyoda Tsukasa bld., 3-14-19, Chiyoda, Naka-ku, Nagoya, 460-0012, Japan + Yamagata: 5600-3, Oaza Higashineko, Higashine-shi, Yamagata, 999-3701, Japan
Phone: 052-323-2627 Fax: 052-323-2630 Phone: 0237-43-7802 Fax: 0237-43-7803

« Kyushu: 1-1-8, Onoue, Kumamoto-shi, Kumamoto, 862-0913, Japan
Phone: 096-386-5353 Fax: 096-386-5354

W URL: http://www.ihara-sc.cojp
H The contents of this catalog are subject to change without notice due to improvement of products or other reasons. CATNO.118



Bl-Lok

Bellows Valve Series

Cleanness by Purpose

-
0

CVB&CVF.E

SB-ISS type stainless steel forged steel valve

Standard material

Part name Material
Body 316L SS
Bellows 316L SS
Disk PTFE or PCTFE *1 *3
Disk holder 316L SS
Bellows flange 316L SS
Bonnet 304 SS
Bonnet gasket PCTFE *3
Pipe 316L SS
Handle Aluminum

Test inspection

Pressure proof test
1.5MPa

Sealing and valve seat leak test
1.1 MPa

He leak test (vacuum method)
External: 5.05 x 10719 Pasm3/sec or less
Valve seat: 1.00 x 10 Pasm3/sec or less *2

(*1) PTFE is the standard for the disk material. PCTFE can be specified.
(*2) 5.05 x 10°1% Pasm3/sec or less for PCTFE.
(*3) Can be made with the polyimide material.

Size Operating pressure (MPa) Operating temperature (°C) CV value Approximate weight (kg)*
10A 1.7 13
15A 3.0 1.5
20A -10to 80 5 1.7
25 A VACto 1 8 23
32A (200) *3 22 6.1
40 A 25 6.2
50 A 29 9.8
* Short pipe connection type
Format name
Model Type Size Connection Material Gland material Internal surface process

CVB - 10 PW5 - 6LCT - BA

B:10At040A 10:10A BA: BA grade
F:50A 15:15A EP: EP grade
20:204
25:254 PWS5: Short pipe type (sch5) CT: Bonnet G/PCTFE
32:32% FJ: JIS1OKRF flange : Disk/PTFE
40: 404 UN: Union (Butt weld) C :Bonnet G/ PCTFE
50:504 UW: Union (Socket weld) : Disk/PCTFE

IHARA SCIENCE CORPORATION



W L .
& I~ o ®PW connection y e

! o (Pipe) b :
T (O [ —
— ] |
N~y 1 < . J 7|_77 -
25 O®FJ connection
l (Flange)
TIG WELDING
7 | . ow Y- =
L 4
| l  ioksize ) =5 Ji ) =
i [HARA [ ‘
(= : = 1 ‘
¢ | e ®UN connection
[ L T (Buttweld)
= e - 0 [
2- M6 Depth 107< ~ 1 ‘ I =
/ [ é‘F A - oC! !
N ’
\\_0, 5 < < . ®UW connection
ol (Socket weld)
CVB type ‘ TIG Weldlng f !
i <
T |
]
CVF type -
Pipe end
Model Size D t L L1 H h W S F
CVB-10PW5 10A 17.3 1.2 200 55 104 24 63 4 30
CVB-15PW5 15A 21.7 1.65 200 55 104 24 63 4 30
CVB-20PW5 20A 27.2 1.65 200 50 113 28 63 5 35
CVB-25PW5 25A 34.0 1.65 210 50 126 33 80 6 40
CVB-32PWS5 32A 42.7 1.65 265 57.5 203 50 100 13 56
CVB-40PW5 40 A 48.6 1.65 270 60 203 50 100 13 56
CVF-50PW5 50 A 60.5 1.65 277 52 244 — 160 16 —
ange
Model Size d D g L C T n-h f H h W S F
CVB-10F) 10A 14.9 90 46 100 65 12 4-15 1 104 24 63 4 30
CVB-15F) 15A 24 95 51 108 70 12 4-15 1 104 24 63 4 30
CVB-20F) 20A 28 100 56 117 75 14 4-15 1 113 28 63 5 35
CVB-25F) 25A 35 125 67 127 90 14 4-19 1 126 33 80 6 40
CVB-32F) 32A 43 135 76 165 100 16 4-19 2 203 50 100 13 56
CVB-40F) 40 A 49 140 81 165 105 16 4-19 2 203 50 100 13 56
CVF-50F) 50A 60.5 155 96 230 120 16 4-19 2 244 — 160 16 —
0 0 e 0 B eld
Model Size D t (L) L2 L3 (La) H h w S F
CVB-10UN 10A 17.3 1.2 174 90 35 30 104 24 63 4 30
CVB-15UN 15A 21.7 1.65 184 100 35 30 104 24 63 4 30
CVB-20UN 20A 27.2 1.65 222 110 39 44 113 28 63 5 35
CVB-25UN 25A 34.0 1.65 253 120 57 52 126 33 80 6 40
O O E O O e eld
Model Size D D1 (L) L2 L3 L4 H h W S F
CVB-10UW 10A 21.5 17.8 150 90 30 10 104 24 63 4 30
CVB-15UW 15A 27 22.2 170 100 35 15 104 24 63 4 30
CVB-20UW 20A 32.5 27.7 180 110 35 15 113 28 63 5 35
CVB-25UW 25A 41 34,5 190 120 35 15 126 33 80 6 40

*The contents of this catalog are subject to change without notice due to improvement of products.

@ IHARA SCIENCE CORPORATION

« Head Office: 3-11 Takanawa 3-chome, Minato-ku, Tokyo, 108-0074, Japan
Phone: 03-6721-6981 Fax: 03-6721-6991 M URL: http://www.ihara-sc.co.jp

« Nagoya Office: Phone: 052-323-2627 - Osaka Office: Phone: 06-6358-9255 «West Japan Sales Office: Phone:086-455-1811




